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Test Booklet Code MPT_ 19 Test Booklet No.

Paper : I

Roll No.

Time Allowed : 8:30 a.m. to 11:00 a.m. (2> Hours) Maximum Marks : 150

INSTRUCTIONS

Do not open the Test Booklet before 8:30 a.m.

Read the question carefully before marking the right answer in the appropriate circle of the OMR

Answer-Sheet.

e No candidate will be allowed to appear in the examination without Admit Card and it should be produced before
the Invigilator when asked.

e No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

e Any book, paper, cell phone, calculator or any electronic gadget or objectionable materials are not allowed in the
Examination Hall. Candidates are allowed to bring only Admit Card and ball-point pen in the Examination Hall.

e Candidate will have to keep all his/her belongings and materials outside the Examination Hall at his/her own
risk.

¢ Any candidate found using unfair means or violating the above or any of the examination rules shall be disqualified.

e Candidate should clearly write his/her Roll No. in the space provided in the Test Booklet.

e Only one circle, either (A), (B), (C) or (D) is to be darkened completely for each answer on the OMR Answer-Sheet.

e Candidate should not make any stray marks on the OMR Answer-Sheet.

e Candidate should not staple, fold, pin, wrinkle or damage the OMR Answer-Sheet.

e Scratching, overwriting, tick marking, multiple answering will be considered as wrong answer.

e Candidates will have to sign twice the Attendance/Roll Sheet presented by the Invigilator on duty, once after
taking their seats in the Examination Hall, and once at the time of handing over their Test Booklet and OMR
Answer-Sheet to the Invigilator. Cases where a candidate has not signed the Attendance Sheet a second time
will be deemed not to have handed over the Answer-Sheet.

e The candidate has to return the Test Booklet along with the OMR Answer-Sheet to the Invigilator before leaving
the Examination Hall.

e Candidate should do all the necessary Rough Work on the Test Booklet in the space provided. Rough Work
should not be done on the Answer-Sheet or on any other paper. If any Rough Work is done on the Answer-Sheet,
the Answer-Sheet will not be assessed.

e There will be one single OMR Answer-Sheet for all the questions. No _extra Answer-Sheet will be provided
for any mistake or correction.

e The OMR Answer-Sheet will be provided along with the Test Booklet. Candidate should fill up the particulars in
the OMR Answer-Sheet, i.e., Roll No., Test Booklet No., Test Booklet Code, Language Code, etc., carefully with
blue/black ball-point pen only.

e The test is of 2% hours duration and will consist of 150 questions.

e The candidate should use blue/black ball-point pen only for writing particulars on this page/marking responses
in the OMR Answer-Sheet.

e The candidate should make sure that the corresponding Test Booklet Code is properly written/shaded in
the OMR Answer-Sheet by him/her. For example, if the candidate gets Test Booklet Code ‘E’, then he/she
should fill up ‘E’ in the box provided in the OMR Answer-Sheet and also shade the circle ‘E’ in the OMR
Answer-Sheet. In case of any discrepancy in the Test Booklet, the candidate should immediately report the
matter to the Invigilator for replacement.

e This Test Booklet has five Parts, i.e., Parts I, II, III, IV and V consisting of 150 Multiple-choice Type questions,
all carrying 1 mark each.

Part-I :  Child Development and Pedagogy (Q. Nos. 1 to 30)
Part-1I . Mathematics (Q. Nos. 31 to 60)
Part-III : Environmental Studies (Q. Nos. 61 to 90)
Part-IV  : Language-II [ English (Compulsory) ] (Q. Nos. 91 to 120)
Part-V :  Language-I (Optional) (Q. Nos. 121 to 150)

(Any one of the languages - Assamese, Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi)

e There is no negative marking for any wrong answer.

e Candidate should note that each question in Parts I, II and III is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference. In case of any
discrepancy or confusion in the medium/version, the English version will be treated as the authentic version.

e Important : Candidate please see Page No. 7 for Index.

MPT-19/P-1/H 1 P.T.O.

o

g
B



IGERIRGI]

QT 8:30 ISIT WIS AIPFOIF FYeTT |
OMR 337 #1@q IR JS0I6 BT S8l B F917 IAMITS 2RIGT TILE #fh 76T |

MPT-19/P-1/H 2

AT A HREE (@IAT ATTHINE <PFe IR Tl 92°7 o< A9rs! R 1t Kbl (G8F 9@ sfa ({7
IR |

AT BfeT AT TES (BICAT AP AIH F94 fowao A& S I % @ 70T Suis fxl 9277 |
(ICAT AITHINNE [FSI, (BICAT 4T FIS, (ZeT FIF (Mobile), (FEFIEI0F AT (AT GF9F (@yiad ST AT S+ RgSad
3B AIPF! FFCeT [T SIauhs i@l 9277 | SHILTFAF AT @ ST Je1 -3 (9702 AIPF FCeT [HCeT Suhs
|

AIPHIAIT 57 T (OSTEFI FAICETIRIF SN AP T 2o o9 nifrge 137 |

Tfit (FICAT ATPFIFIE SPIR TR 7T (I AT 390 Grardl I APFIF TR TeTsql F(F, (668 (03T STofs fe
RSERIESIEGE

AFINE TS (@Il 779 2FF0S WS 510 =18t fetfiq Tifr |

OMR T&F 71@® ACSiFC0T 2% T8ad I T @FIET QBT 8 (A), (B), (C) I (D) =9 &l Ff< |

AIPHIE OMR TBF 1@® 5 (AT 49999 7ot fg (i1 |

AIPHITE OMR T& *@yd P11 191, Bt ot 3T 78 9 @=ifsa |

Teq A@UTS (BICAT G797 miof it 5 o T, @ofar-Seifatas feraf a1 (31018 Taa ceT o1 wet JfeT s 31127 |
AFITHCeT FHIHCD Tt SRS/ (atel Aas 7aie 7% 397 eTfoR, 01T (SE I ArH F%e ST o7 F1E
TS 1 a9 OMR B89 I 2FIFoA! [HFEE St fiiq SITe | (@I S SRS/ @iet sfaw
TRSRIATT I FFFT T, (SR @ (O3 ENP Sea-ia ST v et f5 o711 2°7 |

AT FTF SIS FIE IS ARIHINE [T o6 OMR BEF @S 510w AFFOUAT ST g 1o |

AP FBCET 49T ARSI BT (rough) FIN AAFFow© AT SRG R B 11T | AN AT (rough) FIN &S
A I IS (FICET 469 FloIST® ST @R | T8 @ a7 @S U517 (rough) FIN AIHNE FE, (SRR’ T B
Teq #@q Yelsl— F91 72’7 |

AT AHF AT ATHIT 9T NG OMR T8 QR il T3 | BT X0 31 87 IR0 Afofee @I $oq ~1q
BEEH

AIFIFO 7510 U OMR B@s 7@ 7@l 27 | AP @73 M€ OMR BSF “[@w ({67 759, 2IFIF0 954, AIFFoI
T, ORI T TS AR (et 1T/ T AeT=A2T (I 73 F< eTifoRn

AP ST 2% T0T A A FIFow 15007 27 A |

THATER O TR I A<FINET OMR TBF o 16l /F AT 61- 2130 (AFK(R DI S8 A |

A fAFve @I Sfvs TTe 2FIFed FT 75T OMR 31 Aqq Fwe Sixe fordt &1 Swizgeagwee!, Arsidi
AT T PO T ‘B’ AHE OMR Teq +faq e 3iXe & g =g one ffwe 33 & 0OF 3o 3
AR | PTIFoe a1 oo @At ATFIFE ooFre NITes THIR SiE 2FIFoAT T} ke F'7 |

APIFSATS 1, 11, 111, IV 31 V 93 ATB0! G156 (Part) §5 15007 I2YAT #7216 31 A tSFC0T 2459 A1 1 953
TS |
Part-I T Omme o e - oere Nos. 1 to 30)
Part-II D I51G)
Nos. 61 to 90)

Part-IV  : O [B&TST (I1456NeTa )] Nos. 91 to 120)
Part-V  : ORI (&) Q. Nos. 121 to 150)
(7 I QB ©IT- SR, A8Tell, 00T, SITEt, B, WiE, @i, afesfx ore F11)
ool O8I NI (AT AT FFT AP |
APFINE (ST T F9w T @ AFIFO Part-I, Part-Il N Part-I - HLPHR I20IRF '3, @AH-
ST, TSI, JCOT, Al ST 32qTST | Q% (Fa® NI AT FFATS (@] 41991 K1 q13a7 ST cofiaie Sefist 27 cet
BLAIE] HLFITOIRE AFo B JfeT 51N FT |
wIFIQT : ARPFINICE EI1@q 1T e I 7D 42 7 58T |

<

Q.

(Q. Nos. 31 to 60)
Part-IIl : iR S Q.

(Q.

(Q.

40|
20|

i



faget

AT 8:30 WHRFIF & AT4aft e |
OMR $87 “tad IV JBfbte Ba G4’ bize A7 4if 410 FILH At @@ |

MPT-19/P-1/H 3

AT @ QIOT (&I SAFIE ST o W8T @ 71 932 a0 s T AT /@ 4Ts 57 SIRee A=
Aq (AT [ |

S BeACE AT SRB (I AELE S FCFF foo@ A@ IAJT ATPF FF (AF I3E@ I3[ i
3T 3T AT

SHITFITICE (@19 I3, (I 49T IS, (AR, FIAFSCALT I (FIF G QEShod ST I oSS E I8 AT
FOF ([SAF SANRS (3T 2@ 7| AITFISE (@FIemI@ 2@ 1d 9L IT-AWSD (OF AT FOF ([ STF ST
M3 |

ATFINT T (ST ST T YT AT TP F0F I3 o wfeg T & |

Tt A STFILT TPIR SAR SeTgd FEA 1 SAE Srard FAT AT WY THEH FEA, O ©IF SIS
3T et F1 3@ |

ATFILE [Sa @it 999 shsitag e FI =% FF foTdte 31|

OMR G8I(@ ATSSH G AT BRI Sy (T-(FH QHIG 8 (A), (B), (C) AT (D) =9I FIceTl FACo 2J |

ATFIL OMR STI?IC@ S5 (@I LA 7t s #a@ 77|

ATFILT OMR STIo@H IIARPT T, OIS T4 I 98 FACo 2NE&T 11

Seoiaibe @ 4qE wist e, 53 5% (e, @117 &9 (o721 a1 @35 A TIT S5 @IS Swg feeT of get
3¢ et F1 3@ |

SHIPFINE HIFFT 3T SARRS /@I At 431 Fr%d FCo W@, IV SR AIAPF FOF AP 93T FA1
S W2 TSI OMR BBF9M@ W32 2 9fafb [HIreHsE Sl (8T S | @ siarerdt $Ffs/@rer «ita 7
fRo I ATFT I FEF, SR ©IF SBIA SN ZJ(F JCeT siels Tl I |

SIPF! FF B9 FANF A& AMFINCS HIPFEA 20O OMR TSI 505 A~@fb Sl s 2 |

ATTFILT HFeT YT ARSI USTOT (rough) FIST AX2C@ 3T BIF FdCo SFET | SITHILT 4707 (rough) FIS
TEI9@ I IS (19 AT SIS FACo NIET T T AT @2 47T (rough) F1ST SBA#T@ FET, O €%
TEIoI0@s Jelsi— T RS Al

W] ATIT S AFINNE 90 TG OMR T8FHa MG I@ | o XA I BT IAQNK & Afolae @3
Saad@a (Wsq 3T Al |

A9IC@d ST @SB OMR B@d7@ 3T @1 ARIFIAE G2 A OMR $8F7(@ @e1 794, #<ot@d 754,
AATET (PTG, TR (&G ZS5IH ST BYHI@ 61/ FICT Fe1-ART 37 =i AS Fa00 27 |

ATPFIT T 2% THT G2 2A9t@ 15015 o WFE |

el BT (T T3 ATHILIEE OMR SBITE et /FICoAT IeA=TTD (A TRIT PO (A |

*rFIda e zeut Sfte Tte dUUMtEd e T390 OMR Seaditan AU T Tat W1 TwRFIFFHA,
AIFIT ST Iotad @IS ‘B’ T OMR Seavtad ffie ja & forars @ w3z ffit® 3o et et
FACo @ | AUAC@ (I SRS (WATA AN wewdle ERit Adwece SaiET W32 ddaft Ive Face
@A |

S9I@ 1, 10, 101, IV 998 V-9¥ ATB5 It (Part) WG 15015 IR AT g0 2147 SR WL ATSSHIb ATIT S5 1 7789
FE 4R R

Part-1  : T3 &FI9 @3 Frwer-orar (Q. Nos. 1 to 30)

Part-Il : siffs (Q. Nos. 31 to 60)

Part-III  : ST g™ (Q. Nos. 61 to 90)

Part-IV  : ORI BA&! (JITSMF )] (Q. Nos. 91 to 120)

Part-V  : RN (a%F) (Q. Nos. 121 to 150)

(@-@HF @Ffh oI - SRR, 19T, J0ol, siedr, BT, 7@, @i, gfsfy e Fif)
Bl SBLAF ST (F1F AT 757 VP a1 |
AN ST YR T IS @ @ 2@ Part-I, Part-II QI8 Part-Ill -9QF 2B IRSIFF |
Y-SRI, JIeel, 0ol TRl «3e ZqAT | G CF@ NI I TFACT (&9 4 STvhe SId @R
SRIIET 20T ZRATET FAFIACHS AF® B 03T 5I°T5 FIEA |
AT : AIPHIT STEIC@n S5 AR FE 7OT 92 7 A |

P.T.O.

o

g
B



ERIE

wf 8:30 fomfw fam smeTTef Wi foeme@t s@aeT)

@mmﬁ%wmmmﬁmmmm.
BITHMETE (Admit Card) TATeAT Esl TOARAGET STASTEE fSRIEA! S-SR ST IRI SIS A Jfe Tirsan
et gremiers fefremt i |
SIS, WA AT G TFe fSTHERE! SIS ST G B! U6 STHSE @ AT BF/E SR 7 |
e forraarEs fosme, Srafa-sn e o], JaEa % 4, hageel, Safa-srl J@m Hifsaar ST e
ST AT STSIE WS Al 21 SR AT | foraame @ifd gramMeTs SR Jerdqe’ SAFSe G oiql e
ST |

o TorTermEn AT AT Tee- et T Yarat STESIE Wt s Maf AHera e et T |

. e Sren fomrramrn s e AR T M 7 e meRE fawE, faeidt A e e S |

o fomEmEn Meen-TmafT Wi TR (Roll No.) HiAE faems foa s I fear A= |

o HERYTS GAEH R SEfE-sren 98 S@| (A) T (B) T (C) TE (D) W 16 Seisi g THE e |

o TR foasamE foamEmEn Sel I@H SRl gl JHAE 98T |

o forEEmEn oMR R faareat fif TIfE, o= TeT = Qe ™ T

o ToamEEmEn e foemsE Sel e 2FmE, w-a1 foremm, e e glea sEi TR~ 891 I ST |

. fomEmE At Smm getrr R foemsame wem g e e, fifaeme See fodm stesie @@ |11y
A HHIE TR A Gaire | foemg TR oMR TR farereat Frafeffie st S wwme | den femmeamn Jfemmy
IR foesare 3y @aft e Ife g e st faeidm fram foers s S 9eEe S |

o SAFSIE QU ARTRAE fai fommaamen it semme oMR @ faegsi arid G99 fSarg@ist SHE g |7 |

o TorTarETEn mies TR TEE T SEE rough BISTE! G STz aTeE e =i gFF | SA@EET rough BTSN fRaT
fereTeaTa Te T[e WG WIS AR eF™ 7611 e foemear i€ 9 rough TG @ s @ faeeat
HAE WIAHA™ ST 7T |

o TS WAEE ArETS fSAEEE M’ oMR R foE ST SN T ATeeT oS fer et St
TR foretrg g S 72T

. GirE foeesi @ M oMR R foers B ST | fARERn o 1 oMR fRA areare g grie-si : wif TR
(Roll No.), Hi-ra foammsfa T=r 1 i foemef +'s, 1@ &S sEfe aRfcE! S el Tl TEE serd-si ferAr
AT

o SAASIEH T 2% ToT SR WA fSaeaE 799 150 HifsT 9Fi |

o fommEmEn oMR AR foemzare @it e SR e serisia T W@ S17s SIersH! i |

. ToeTEmTET T s g fe i faenet @ g @t oMr R faemgt far srermeme feat i fafafer
Aifed famraaran g | faemet & 21 e @t e faemet far sremmare | faest & e e o
T STRT o St T Ererss= =i |

o HEE S 1, 1, 1, v SRV HFST SREEE (Part) T WG 150 &' HHA™ (Multiple Choice) ST 3TRI HIAHITE!
s e fRAfT grEr 1 T 9|
Part-1  : 719 SR TR ®RI 3Ted (Q. Nos. 1 to 30)
Part-Il : WFENY (Q. Nos. 31 to 60)

(
(

Part-IIl  : S3TTERE HUIH Q. Nos. 61 to 90)
Part-Iv  : Td-II B0 (TTREM)] . Nos. 91 to 120)
Part-v  : TdI (SERE-ST1 HH3) (Q. Nos. 121 to 150)
( Torreramen st sie, sR’, TN, fewdt, AR, Jareft, Aiorqd ST el forsiisl -1 g1 )
o TR Rt o e Wﬂml
o 3THeR 7 TR giaenfy e e anfeamn w9 € |9 St part-1, Part-11 STRI Part-111 SR AR HRT
e Tt ST, SR ST, aier, s, fewt 1 SUf | S Srerare e forsi wal WHrEErE sol-srst Talt FiSrere Heire
STTITeeT UM HIETEHTIE! JHTS g1 §HA1 Al A0 |

o ATEETIMAT: ARGl feremsf g faemen oA foes |, 7 @ e

(el

MPT-19/P-1/H 4

HEEE

i



frder

YTa: 8:30 St | Ud UHIST0T Gfaieht 7 @iet |
OMR STH-U & U g1 | Y5 S fafga & @ ud weft woet wraerigdes ug o |

MPT-19/P-1/H 5 3

a9 U o forn fenedt adtemedt o1 wdten # Srew & o Srwm o7k wdten friters afe A o 3= worwr w3 fe@mn =)

e =erd 99 foRet qlenelf 1 wien 9o & fiaX gewT sTean qiET wad Siewt S S STIATd T8l & ST |

et oft wtameff =61 forama, fREh T 1 HFT, HiaEa WH, Sheperer, fhel TE it Agfan At 12 SAfase a%

e 7o B of S i 3TAf e < S | qﬁwﬁaﬁéﬁamwaﬁiw g U9 & TN Yo § o 9T i sTHfa

sl

qitemell ST9 W 1 TS SO Wt aEqe Rl wian qo 9§ wme STe e W) @i |

Ifg g wiemedt Terd Tkt STUAT § A1 S Sfefed FEmt w5 S i €, 9 S§ s 9RR fea S

Tqdemelt SO T . wRieror gient H T T T W Ees w9 ¥ o |

OMR IWR-T9 T Y& IW & e fFel Tk 99 (A), (B), (C) 31 (D) Tl I0 T § el &Y |

Thenef OMR SWR-T7 B 3177 Tt YR <1 fom 7 ot wahit |

TRemedt % fIT OMR STR-UF =l Higl, Lot S, T ARAT 31 78 1 991 8

IW-T3 R e W@ &1 F9 a1, SR foaem, fog o, &g I <A1 TTed T ST |

et =1 Faes g0 fou T sufefade oie W aR SR 1 9T, Jeal aR Ie o o 9% 3R g aR

o1 giegent 3T OMR STR-T3 fitereh 1 iaw o a1g | 7R forelt wdtameff = sufeefa/ie sie w Sremy swaner 72 fomn,

@ 39 Tameff ¥ ISTR- & S R, T ST |

T o Bred 9 Teat wlianeft i fiersh % 989 OMR SW-93 & 91e Tieqo7 gient off <1 a1 grm |

Tenell |t T 1 Se IF (rough) HE THeT0 GREeRT § T T ¥IM W H Tl | glenefl I6 (rough) ®HE

IW-TF A1 374 FREl T o HFTS W G H Tehil | AfG Temelf IT-T31 W &I T (rough) HRE AT 8, O TH SW-T

1 Feiohd el TRl ST |

it gyt o forq wemeli st el Teh OMR STR-U &1 foam S | reret 89 ot A 9 &6 o forg =t srfafiem

AU &l 1T S |

&7 gRieht o WY Teh OMR STR-T4 e S | w’ieqedt 39 fAfde OMR STR-19 § e ., WRieqor gierent A., aem

JRETehT 1 hi€ SR AT 1 IS SIS ToToR0T TR & Sheled Jiell JI-ehiel sict=use 09 9 ¥ |

T 1 FHI 2, U BN SR UieT0r ieent §.1.50 T =i |

TRIeqfef 1 59 T8 W 3R OMR St-T5 T FHec el a1 Sl sia-d132 U= & Gt Y 9= 2 |

Tiremelt g GHfHa &Y o foh Tieror YREeRt ot i 3TN OMR STR-US hl S Ueh & & | SSEURE®Y, afg

Tieqredt o URIETUT YfTeRT ST RIS ‘E’ &I, i OMR ST-US H hiS ‘E’ feT@T aAT 3iR 91 ‘B’ i ShTell SRl &R |

;@uﬂwg@wﬁaﬁé%mwmaﬂaﬁémhﬁ,ﬁmuﬁmﬁﬁwﬁaguﬁwgmaaﬁ%aﬁ
|

TG TteToT gt § 9" 9T (Part) 1, 11, 111, IV 3IR V 81T 921 el 150 Ig9E! 8= & T34 8l iR s 991 & fag
1 3 B |
Part-1 : oo foepm 3R foeror-Sied (Q. Nos. 1 to 30)
Part-II : TIfUrd (Q. Nos. 31 to 60)
Part-1II : YITGRUI 3T (Q. Nos. 61 to 90)
Part-IV : STI-II [3F0si (31fam)) (Q. Nos. 91 to 120)
Part-V : -] (dehfede) (Q. Nos. 121 to 150)
(TafEn, Sen, drel, TR, fe<, AR, AdTet, Bl wd et JrsT § § wiE Weh)
T ST ok 61U Shig TehRTcHeh 3Teh= &l & |

iremeft sToet giaen & fore s W foh wleror YReaeht & Part-1, Part-11 3iR Part-III &1 Ycieh W9 og- Wtk 20, Si-
SrafaEn, Se, e, fewt 3R 2iisht | 33 Ty # Arerm a1 oo § fondt yehr i 3fe o wwem # orgfasn e it
SIS I B | AT ST |

fagte : wheneft Faan g & fow g8 den 7 36 |

P.T.O.

g
B



TEACHERS

74\

addaz2yT




INDEX

Part Subject / Component Q. Nos. Page Nos.
I Child Development and Pedagogy 1 to 30 8 to 30
II Mathematics 31 to 60 31 to 45
III Environmental Studies 61 to 90 46 to 62
IV Language - II [ English (Compulsory) | 91 to 120 63 to 66
\"/ Language - I (Optional) (121 to 150) (67 to 94)

(Candidate should answer from
any one of the following languages)

Assamese 121 to 150 ©7 to 69
Bengali 121 to 150 70 to 72
Bodo 121 to 150 73 to 75
Garo 121 to 150 76 to 79
Hindi 121 to 150 80 to 82
Hmar 121 to 150 83 to 85
Nepali 121 to 150 86 to 88
Manipuri 121 to 150 89 to 91
Karbi 121 to 150 92 to 94
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PART - I : Child Development and Pedagogy

1. NAIRSAT ToIENE P CIRRIRT SHF 7619 Sifetdl Sers Tl (207 :

LICIIE I CERNGEIEMNEY
(@) MBI
(b)  weAICEEe
(0 SWiEFeR™
(d) S5 T IEATRIBN
B eTcor 91t Sfaear |
&) (@)- (), (b)- (i), (c) - (iii), (d) - (iv)
©  (@)- (), (b)-(ii), (c) - (i), (d) - (iii)

0
(i
(i)
)

®)
©)

(S el
SITSIGR
R

R

[CES[RENED

(@) - (ii), (b) - (iid), (c) - (iv), (d) - ()
(@) - (i), (b) - (iid), (c) - (i), (d) - (iv)

1. WA TR Q38 It SNYFE ©fferd! 05 (exl 2R |

VARSI TR
@)  SBIERIT
(b) WIS
(@ IEaTeRm™
(d) SIS I AEATAFAR
BH N1 feT (@1 4
A @-(), (b)~(i), (c)-(ii), (d)-(iv)
©  @-(iv), (b)-(id), ()-(0), (d)-(iii)

@

(ii)
(i)
(iv)

®)
D)

i
ORISR
FIE
TS

R GIRENES

(@)-(ii), (b)), (c)-(iv), (d)-(7)
(@)-(i), (b)-(iii), (¢)-(1), (d)-(iv)

1. Tl et Adae®mR SR STERE! TR SRR FiREE! MeRe eHE S -

Tt farfiramt AeasewiR
(a) BI@K (Behaviourism)
(b) T fafSRfY (Psychoanalysis)
©  HRffeETREg (Gestaltism)
(d) <RI oE (Constructivism)
IR TRISTAIATIE! TG -
@A) @-(), (b)~(i), (c)-(ii), (d)-(iv)
©  (@-(v), (b)-(id), (c)-(0), (d)-(iii)
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(D)
(i)
(iv)

B)
()

T SUTRIT
AR
THAR

ERIC)

RITAR

(@)-(i), (b)-(iii), (c)-(iv), (d)-(3)
(@)-(ii), (b)-(iid), (c)-(0), (d)-(iv)
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1. HAIfGTH % HaaE 9E 3R 3 gaefenl ot gt e & e F

TRNIEAT T HadTS TuefeR! T AT
(a)  SAERUER () ~ WE'TER]
(b) TR () PR
CIRIEIPETICI (iii)y IS
(d) T=EAICHSA] (iv) AHITAR
IS He I AW ¢
@A) (@)-(), (b)-(ii), (c)-(iii), (d)-(iv) B)  (a)-(i), (b)-(ifi), (c)-(iv), (d)-(3)
©  (@-(v), (b)-(ii), ()-(i), (d)-(iii) D) (a)-(i), (b)-(ifi), (c)-(0), (d)-(iv)
1. Schools of Psychology and their supporters are listed below :
Schools of Psychology Supporters
(@) Behaviourism (@) Vygotsky
(b)  Psychoanalysis (i)  Skinner
()  Gestaltism (iif)  Freud
(d)  Constructivism (iv)  Wertheimer
Find the correct match :
@A) (@)-(), (b)-(ii), (c)-(iii), (d)-(iv) B)  (a)-(i), (b)-(ifi), (c)-(iv), (d)-(3)
©  (@-v), (b)-(ii), ()-(i), (d)-(iii) D) (a)-(i), (b)-(iii), (c)-(0), (d)-(iv)
2. A (PO ©F3 Bl@-Ta 1P (e [49d GITeT (&IT1F 5 fHa0s Sl Sfasiee I Fhag 3119 829o 35
ez 2
A) T dfsfema oy (B) IIITAIM ©F
©) TIEIS o It TIWfSFeIR™ (D) IEASFAT
2. PR @F Oofh R@-REltE (@76 TS @Sl 8T AR w1 ARFIET Sy Taed FIF O
BPg M 7
@A)  TwF Afshar &g (B)  SIg<IRIIM (conditioning theory) ©g
©)  SPBIFD B3 T AMIAFGRI (D) IO /AT SISTTAFIM

2. HAHEM 99 theory 3T WEHTRRE! AR @RI’ SHEM S fem @ or/ed 9l e
RRICKIEI R

(A) Stimulus Response Theory (B)  Conditioning Theory
(©  Gestalt Theory (D)  Constructivist Theory
2. fRen wifd o1 -9 979 % g BH-BHEA! 1 heel [ i1 8 % sfael 1 ol SfTwhr & fag wfsr
A T HET T&H HA S 2
(A) Ik Yfdfshan o1 (B)  IIIHTAE Tl
© Tr=rE @ wEikdErg (D) TEAIHHAEIRE
2. Which theory of learning emphasise on making the student active for the discovery of knowledge in place
of becoming a passive listener only ?
(A)  Stimulus Response Theory (B)  Conditioning Theory
(©  Gestalt Theory (D)  Constructivist Theory
MPT-19/P-1/H 9 = P.T.O.
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3. Jalet e @5 oraiedr 2°e ¢

n Q- I q2o7 Q- I q2o7 . 100
FITRNS 57 FITRS 57
o Q- FITRF F57 C 00 @ 1Q - FITRNF 57
W7 27 W7 27
3. FavEd e O et 39
W 1Q = I3 7 @ 1Q = I3 <7 100
FleTap e F2o7 FleTep i F2o7
o Q= FIA@ NS T C 100 Q= FIA@ NS T
W7 57 W7 5T
3. Intelligence Quotient (IQ) fEg=IAf AR ATgsN ST&T -
Mental age Mental age
IQ = 1Q = 100
&) e Chronological age (B) < Chronological age .
Chronological age Chronological age
IQ = 100 1Q =
© Q Mental age 8 ®) & Mental age
3. difgs TR o &1 gs Tsfa ®
AAfS S8 RS S8
HTeTh{ ek S EAGEIREASH]
1Q i 100 1Q i
= —— =
© RIEIRSCat ©) HHE 3
3. The correct method of calculating Intelligence Quotient (IQ) is :
A) 10 = Mental age ® Q= Mental age % 100
Chronological age Chronological age
Chronological age Chronological age
1q = Chronologicalage 5, 1Q = Chronological ag
© Mental age ©) Mental age
MPT-19/P-1/H 10 Bral
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CIRSAT (FICAT 9F TP UBISCF (@R SIS ST CF, SN (SANIAI T SIS I 318 Ff7 17t
o< < IO &1 T 7

@) S fowe B) SRS e
C) dfswers fowq (D)  STICETISATS (critical) o

YT (PICAT QP AT kﬂd‘lﬁl;.d (< * ST AL P, Q3R Cyﬁ JCAT ST IS AN 5{% IO AT
o8 sifafbe T3 -

@A) Sfemat fiss (B) LTI e
© dfswes foaq (D)  STVICETBATS (critical) fo8F

el Felel HIAY ST SrediAl AAsRa Fiied el o=l AR Sa6fe S S gieme 9 St
Treraf-eral A1 gt fafemm S

(A) Convergent Thinking (B)  Divergent Thinking
(©  Reflective Thinking (D)  Critical Thinking

9 HIE Teh THET 1 Teh 9 Aok G TH19M & €, R T8 & 99 &1 9H1eM gfe & are foa
1 fohd T | a1 § 2

(A)  AfqEd o (B)  STUHR fedA
Q  Hfdshereh T (D) HHTCAEHTCH T

When a problem has more than one probable solution, and the thinking process which create those probable
solution for the problem is called :

(A) Convergent Thinking (B)  Divergent Thinking
(©  Reflective Thinking (D)  Critical Thinking

MPT-19/P-1/H 11 =

{3 OPNR HF U2 6§ AU e W weto 7l (20 :

FERIC R g SIeIEl e
(@) fa-Tame o5 (i) forRs
(b) ITTHE TG (i) rEEeE
(0 WIS oF (iii) O
d) Afew AeazFad &g (iv) 2R
B freTor f Sferaar |

@) @-(), O)- (i), -0, @-0v) B (@-), b)- (i) ©- i), (@)- (v)
©  (@-(iD), 0)-(v), ©-0) (-G O  (@-(), O)-6)©- ), d- (i)

P.T.O.
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5. a7 ©@oR UJ2 U3 ©F SHFINS I5ieT TN 5 (e 76

{59 smR
(@) M&-ToamEog
b) IEHSG
© I8 I SWTE o o9
d oy
B35 TR 74
(A (@)(id), (b)~(iii), (c)-(i), (d)-(iv)
© (@i, (b)-(iv), (c)-(i), (d)-(ii)

©g SAEHS TTfE
() IFTIZH
(i) oREEA
(i)  (TIH
(iv) VO

®) (@), (b)-(i), ()-(iii), (d)-(iv)
D) (@), (b)-(0), ()-(iv), (d)-(iii)

5. Theory of Intelligence 3T SRR fegAfTRERE! TRrE B/ STer -

Theory of Intelligence
(@)  Twofactor theory
(b)  Multifactor theory
() Group factor theory
(d)  Sampling theory
o frel |’ -
@) (@)-(i), (b)-(ifi), (c)-(0), (d)-(iv)
© (@), (b)-(iv), ()-(3), (d)-(ii)

Propounders
(@) Thorndike
(i) Spearman
(iii) Thomson
(iv)  Thurstone

(B) — (a)-(), (b)-(ii), (c)-(ii), (d)-(iv)
) (@)-(i), (b)-(), ()-(iv), (d)-(iii)

5 9fE 7w 9qe 3R 9 a7 h TEId HA Al A ok A = feu T

g T a7 TG
() Tg-3uRH T
(b) g U

(©  EMHfeh SURH dw
d) Hfoeel SIER o=
ﬂ@ﬁﬁﬁﬁﬁ'@'ﬂ :

@) (@)-(i), (b)-(iti), (c)-(0), (d)-(iv)
© (@), (b)-(iv), (c)-(i), (d)-(ii)

el W SR alTet. saford
(i) AT SER
iy A

(iii)  ofAEA
(iv) oM

®)  (@)-(0), (b)-(ii), (c)-(ii), (d)-(iv)
D) (@), (b)-(0), ()-(iv), (d)-(iii)

5. Theory of Intelligence and their Propounders are given below :

Theory of Intelligence
(@)  Twofactor theory
(b)  Multifactor theory
(0 Group factor theory
(d)  Sampling theory
Choose the correct match :
@) (@-(i), (b)-(ifi), (c)-(), (d)-(iv)
©  (a)-(i), (b)-(iv), ()-(1), (d)-(ii)

Propounders
(@) Thorndike
(i) Spearman
(iii) Thomson
(iv) Thurstone

®) (@), (b)-(i), ()-(iii), (d)-(iv)
©)  (@)-(i), (b)-(), (c)-(iv), (d)-(iii)

MPT-19/P-1/H
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BeTe VAT (IR 51(0“1‘;1«0143 PENELE (s 2

@) 3 AnEs e dfesayess | (b)
(© Q% olTE S ERA | (d)
u% RFgeor TS Sferaar

(A) (<< (a), (b) 3T (d) B)
© &<(0) D)
BT ST FAS S15qYeTF oTsa @FIes 7
(@ 3% s g3 dfssages 1 (b)
© 3 9T AT SAMA JeTRA | (d)
8% SSAls @7 |

(A) << (a), (b) 9% (d) B)
© &() D)

e d9 formative evaluation 1 AGY SRR -

(@) Itis diagnostic and remedial (b)
(c)  Itisatype of productevaluation (d)
IR el e’ -

(&) (), (b) 3T (d) 3T’ (B)
© (9’ (D)
frefefEd -9 TS e Teaich i aked § 2
(@) =% fFeras R wfiewrges § | ()
(© I8 TH YHR H A Toih ¢ | )
S foehed i T

(A) I (a), (b) 3T (d) ®)
© FF() ®)

3 FeTe] yoIee AT S iy |
8 - RA 1T SRR ST 2 T |

@@ () S (d)
@@ (a), (c) 11 (d)

3RT TS FHIFACEIR AT o |
3 Q@-FAK AR ST o7 I |

@ () €92 (d)
@3 (a), () 932 (d)

It gives provision of effective feedback

It gives opportunity of student’s participation

()3T (d) 3Tret’
(@), (c) 3R (d) 1Tt

Y RO I Gl a1 S
THY BE-BEA 1 SR foT Gforen JeH & ¢ |

FHad (c) 3R (d)
el (a), () 3 (d)

Which of the following is/ are the characteristics of formative evaluation ?

(@) Itis diagnostic and remedial (b)  Itgives provision of effective feedback
() Itisatype of productevaluation (d) Itgives opportunity of students’ participation
Choose the correct option:
(A)  (a),(b)and (d) only (B)  (c)and (d) only
© (c)only (D) (@), (c)and (d) only
MPT-19/P-1/H 13 E‘ P.T.O.
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7. PoAT Sges CFaT BPNRI B FWCOT [F 7

(A) o= T — ARSTFAT — oT I FaT — 15T — @RFEFIS

(B) ST FIT — oI5 I I — esioq — eifshaat — wwhigsead
© dffamr — 9= FaT — YT ST FI — SR — [REFI
(D) T I FIT — 57T FIT — ST — (R — eifisfazt

7. PTROR ST eied CFad BHR 8w @ 6 7
(&) 2T TN - ARSTFAT — FoT5 S FAT — FALT — [@FETIT

(B) 5T FAT — YT SAEH FAT — 525107 — efsfirar — @HEsFac
© AfSfEar - oz T — ToT AT FAT — L5107 — @FrEsFae
(D) YT ST FAT — 2 FAT — L5107 — @FITFAT — effsfarar

7. QAR RN ME ST aRarhRA aR HifEr 17 -

(A)  Receiving — Responding — Valuing — Organization — Characterization
(B) Receiving — Valuing — Organization — Responding — Characterization
(©  Responding — Receiving — Valuing — Organization — Characterization

(D) - Valuing — Receiving — Organization — Characterization — Responding

7. Toen wifta =t STfaes &5 o1 T THE 1 Y5 hH F1Q ?
(A) TR HEAT — TfAMhAT — TR AT — TS — ATTIRT
(B) TRV AT — HeHIR LA — HTST — Ufifshal — SfRrsaehmior

(©  wfdfshan — TR0 HET — TR BT > FiIST — ARI<TR]
(D) TR HTAT — TS BT — TS — AL — Fldfshar

7. What is the correct sequence of steps of affective domain of learning ?
(A)  Receiving — Responding — Valuing — Organization — Characterization
(B) Receiving — Valuing — Organization — Responding — Characterization
(©  Responding — Receiving — Valuing — Organization — Characterization

(D) Valuing — Receiving — Organization — Characterization — Responding

8. AT (ol REI e
(A) SRR 890 FHo! S HMfEH1os KBl i eres!
(B) FOGIE! R'T AN
€  ATTRIGGIR M1 STICT
(D) oifefler 27 wiest

MPT-19/P-1/H 14
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8. QPG (Fol RN Frsaa g :

(A) TR s FUol Qe eSS KBk 900 2@
B) FOTIA UG I
© GFITGI™ 30O &

O IRICRGECCEE

8. WM AR HEY wRIfTE -
(A)  TIEAE TR TR <A MRS THRAT i
(B) G ST i
© TEa’ T aE
(D) WA S A

8.  Ueh °dl o ®Y H ferek 1 |
(A)  FEh FIR &HAT SR T fR HTm e
(B)  SheicoRTel g1 1T
© THAFREAR! el =eT
(D)  TIfaeier 1 =fey

8. As aleader the teacher must try to:
(A) attain power and supremacy over others
(B)  beauthoritative
(© attain dictatorship
(D)  be dynamic

9. NG FFFE “ovIT FeTehTeld oIV FRACT Tramfale A1 WAt e $f aiest | @3
CFa® RIFaT (FIFCOT IS STt t2rg 72
A) oEfes Tifs (B) AT FIfS
Q) werTers Tifs (D) SwFF 2igens Sife

9. TAFCF, FIFH( AT TTAGIE STo5W SR S F@l@ F 278 NATTs! S FI0 37 | 9%
CFAT® PR @19 Tofb AT RE0g ?

(A) egfsz ifs (B) IFTeH Fife
Q) TR SIS (D) TWEF o417 Sifs
MPT-19/P-1/H 15 o P.T.O.
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9.  TY TG WUTATE TR Wi T HIRIA! AR BRI SEEThRE! M) I8 T i+ s | o faforeTa
EERSIGIE RIERCI R lElC PR IS
(A) Law of readiness (B) Law of exercise
(© Law ofeffect (D) Law of intensity of stimulus
9.  HeH et TSTH UhAATYash THIIGH i o feTq BT/ BT ol URFEeh MR HIA Aeq | 39 &3
H fren wiftq & forw M-t fifq w2 =t St § 2
(A) ER @ Aifa (B) TR & Hfifa
(© o =t ifd (D) 3T K1 Yraed i Aid
9. In a classroom, teacher should gain preliminary attention of students to impart a lesson effectively. In this
case, which of the laws of learning is applied ?
(A) Law of readiness (B) Law of exercise
(©) Law ofeffect (D) Law of intensity of stimulus
10. ST Rl (FIFGH/ (FREIE Ba-Zrals STwels SIeEisas 3ol Soie 2
(A) 933 A, Rmsteraa i |
(B) 4T 999 AR |
© =19 AN, Rroters AR S sTiiisee A |
(D) &<l RmsIeTRE AT |
10. b ST G B@-2rEHT TRET IS F ALT SAmT 2
(A) e o @ wserEa ™
(B) VYN “faca
© R i, JRusteres 2@ 8 ST sffSeet
(D) VY RsTeTEs AR
10. HITEHRM achievement motivation 1 9™ TerIf a6 WT@TT =T -
(A) TEUR SAeRTE SR HFHA e
(B) TEUR e’
© TEUR SEEEl, FEEd SEeE SR FHSR e
(D) HFEIA sTeRrETa’
10. Trefafed sH-w/ o Suem S/ St % et 1 IR 1 go STRH § ?
(A) =X 1 aRaw, forermer o afeen |
(B) U =R & U |
© R Uy, faemer w1 ufEast sk wmfses afem
(D) =T former o1 9ftem |
MPT-19/P-1/H 16 Bral
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10.  Which of the following is/are important elements of achievement motivation of students ?
(A) Home environment and School environment
(B) Home environment only
(©) Home environment, School environment and Social environment

(D)  School environment only

11. TGS (Psychodrama) =

(A) Wbt sfegs Sge am (B) Jhe9T 87F® VBT QI FoF N
© 9T AT B T D) vy TRegs sieersd

11.  N(HIT0F (Psychodrama) X(5% :

@A) 90 BT Srga W B) TFCT TR @ O 97T I
Q)  aF AT MRIAFI (D) 93 AT BFRFTI STLETH
11.  Psychodrama &1 e .
(A)  personality theory 1 HIE § (B)  personality I MH forsTraif §
(©  psychotherapy 1 HIE H&t (D) T@HH personality 1 3G
11.  TAMES (Psychodrama) ¥ :
(A) T A o a1 19 | (B) AT o S H WHaTeil Ueh fohdTdl ol TH |
(©) T YhR I FRRIET | (D) TH YR HAfeRTcd i Her |
11.  Psychodrama is
(A) name of a personality theory (B) ..name of a book on personality
(©  aform of psychotherapy (D) apersonality trait

NN o

12. 3T NSo DRI RERARE c@*mnﬁcq@@ﬂ%w :

(A) T Sorgre (B) TP I
Q) WA SCEIBAT (D) oS FICe

12. P33 N0 S eTold KPR @I Seefe 4

(A)  GRF S (B) TSI ST
Q WX SACEATEAT D) ToiEa e
12.  GfeArhRM ToRra GRfsg S f6f sTeawria oarem
() gr<ify fefagam (B) S A&
© =B HEIIIE (D) ISt T
MPT-19/P-1/H 17 = P.T.O.
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12. o] % o= GoHATHRAT (Creativity) 31 forehTH 31 ShIvTel HE hl ST=id i % :
(A)  HTROT T ITEATT (B)  HHE H GHIHH
© ER STEr=HT (Group discussion) (D) o At
12.  Techniques for fostering creativity in children include:
(A)  Concept presentation (B)  Problem solving
(©  Group discussion (D)  Allof the above
13.  ‘HOIFIOT R ST (PO O oI SART 7
(A) Freds ST ©F | (B) PrFag FRIGF ST o3|
© FreagsTviaTeR™ o | (D) Freae gel oI ATE8T ©F |
13. ‘el AT 47T’ (Concept of reinforcement) ITCEF (FF ©GH JeT S 7
(A) PSR SgFA (Classical) &G (B) FrFlT FRF ST ©F
© Frse SINfaFeRm o (D) Prsg el WS A8 5§
13.  “Concept of reinforcement” 311 HIFH T} fHal -
(A)  Classical conditioning theory of learning 1
(B)  Operant conditioning theory of léarning
(©)  Gestalt theory of learning 1
(D) Trial and error theory of learning 1
13. ‘G it ¥R’ fEfafad SiF-91 7 H 9d SueH © 2
(A)  Toran wiftd w1 srgereE O (B) e wiftd 1 e STgaEA T
© Toren wiftd =1 wmfiRdETR T (D) Toen wiftd & y& IR g T
13.  “Concept of reinforcement” is an important element of :
(A)  Classical conditioning theory of learning
(B)  Operant conditioning theory of learning
(©  Gestalt theory of learning
(D)  Trial and error theory of learning
MPT-19/P-1/H 18 Tl
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14. PR IEReSEFT o @ 2

(A)  TEAfT zET (B) ToH (hgag © Tl FEAR (D) FIO @I
14. PR3 QAISIET SHS & 2

(A)  COAfeT x5 (B) 2OF ToeTs ©Q TS @R (D) P @R
14.  gfea Me fafiemty fawen |9x

(A) TAMA 7 (B) 39N UHAH ©) AR HEAR (D) R Tfed
14. forg TiIfoRe 1 e M © 2

(A) wAfA @ (B) IIM UEA ) SARIS HEAR (D) e olfed
14. Whois the father of Child Psychology ?

(A) Stanley Hall (B) IvanPavlov (© WolfgangKohler (D) KurtLewin
15. WIARTOE FBAT FrseThel Oad (FICR30T (IS 2l 0 7

@) TOSEIE ST (el FIeTST = Bl Sl |

(b)  TOSTEIE SNFS (e FHeTo! A SleTrid S |

€ (OSTEE [ASE Bais BT Soi Sfernd o7 |

(d) ST e BSETE TGS |

@ (OSTEIS AFoPRNOIP SIhs T2SIER FFANE |

w5, Keecor IS Sferaar

A) (@), (c), (d) 3T (e) B) (@)= (b)

© (9 ()= () D) (a), (o)== (d)
15. WARFGIR FFTH Frswat SI6d (19 @FHEssfer oy F1 2

() ©EAT PN [HISH FeTo! T SISl S |

(b) ORI I (A GITo! T/ SIS S |

© R fAreE wihafe suEE S @ S|

d) S SIS o EE |

@ ORI AFOFISIE B RIS A7 FC© AT |

BT Segyfer (o714 :

A) (@) (c), (d) 9% (e) (B)  (2)9R (b)

© (@, (d) 93 (e) D) (@), (0)9R (d)
MPT-19/P-1/H 19 ot P.T.O.

g
B



15.  raferi SR MEeh iREl wRIFTREARETE TRt a6 STgLehRa T4 5l -
@@ TR TeERM TEMEE e fafeE
(b) AR AT dAReifEe’ Here fafere
©  TouR meERf TRiferEt R TRt AR TR
) TER MR @ mEfE AEE S |1
@ ToER e SRR TiRerd ATSaAT it

IR e @’ -
@A) (), () (d) 3R (e) B) (a) W (b)
© (9 (d) R (e) D) (a),(c) ¥M(d)

15. AEfHe €9 § W@eeran e frefated o aferea = wefvfa w €2
(@) TR STIH I T TS hl AfeAid S €1
(b) TR T F HAA Gecrd T Wfeawia S ¥ |
(© oI 31T Tt sl URA % fere 3ur @i o €
(d) 379 FHH HT AR G & & |
(€ TR ST fahetdn 1 Tl €9 9 TR0l T O T |

S ST I AT :
@A) (@) (c), (d) 3R (e) ®) (a)R(b)
© () (d) M (e) D) (), (c) FR(d)

15. = Which of the following characteristics are exhibited by mentally healthy teachers ?
(@) They know well about their strengths only.
(b)  They know well about others” weaknesses only .
(¢)  They find means of correcting their own mistakes.
(d)  They are satisfied with their job.
()  They acceptfailure very easily.
Choose the correct option :
@) (@), (d)and (e) ® (a)and(b)
© (O (d)and(e) O (@) ()and (d)

16. ©F (PO HoEIoT AfFaig oot 737 7
A)  ARSH (B) g © dEe (D) IS

16.  SIBF (FIF0 AT afferzra e 937 2

(A)  ATSH (B)  TAFe © AET (D) Je=rsifis
16. TR d& HTLET T g@m‘r—m HEEI (motivation process) HAY dRFN ST -

(A) Need (B)  Drives (©) Incentives (D) Heredity
MPT-19/P-1/H 20
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16. TrAfafeaa sm-w stfugor gfshan = fo =& & 2

(A)  EASH (B) WO © HE=h (D) T
16.  Which of the following is not a part of motivation process ?
(A) Need (B)  Drives (©) Incentives (D) Heredity
17.  STSAEMGTSR ‘ST09 @ [ Ffafger 2
(&) BT ® fysr © = O =
17.  S[SHICToR ‘FToG” & KB AT 38 FE ?
@) God ® = © @ D) 7
17.  Creativity /1 Level theory @l OR AR -
(A) Taylor (B)  Drever © Crow (D)  Bruce
17. 'GoTcHGRdl R q< i o feram foram o ?
(&) TR ® fem © O) =
17.  Who developed the level theory of creativity ?
(A) Taylor (B)  Drever © Crow (D) Bruce
18. IS e 3Fg ey
(A) T Freae SEe SressE ®) FrEds Tpd Feas dfs sieR sy 9%
© Rovtays siffy Rperor AfxT F1e (D) . Freris @loze Jias
18. Il AIfe BFg oA%F I
(A)  Terd] FRFCIT SIAIN SISO @917 (B)  PPSIIT g FIwced 4R o1 578 F419 |9
© TouF [ ool A s esd (D)  Fredi @oxd Ia 417 897
18.  Law of Exercise 3T i Sl -
() TR T Hieiraft gt (B) U T oYl Sl W T STeHEe
© SISl e B! SRS (D) WA T g deAEe
18.  SFeiter Hifd g1 wewe YeH #d § :
(A) I%d fen wiftd o1 sifexd st @1 (B)  Fremedt o1 T fren Wit o 9fd smre gie & H)
(©) Tl deh & Teh fatherat  ReR w W1 (D) Foveneff =t fosman gfg & #
18.  The law of exercise emphasises on :
(A) Constant practice of usefullearning (B)  Arouse of interest of the pupils towards new learning
(©  Avoiding failure as far as possible (D)  Increasing curiosity of the learner
MPT-19/P-1/H 21 P.T.O.
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19. ST Pt (&FIF0T/ @A@R0 Sfe Frag I e kere cras 87 7
(@) I @ S e iR TGS S5 ; 68 Kot wiafte, s oy SiEfs sfiqoas
o |
(b) I ; 58 e qbf e dfear
(© ForT sfReE Ifa 23 @@E |
)  Im o REr (oo Sied ¥ @ A |
B Seaot A1t Sferaeat
(A) (@< (a) (B)  (a)3= (b) © (), b)3Fd D) (b)=F()
19.  FIt6a Al @17 Sfewfer Ffug Iin 3 RFier oF@ 35 ¢
@@ I @90 (SIS Qe iR ATRRIST @ @RI, 58 ST TR, SN @ SR Afsce
(IR |
(b) a2l e aF gRRiRS dfiear |
(© R 2rel gim 206 S A1
@ & e KErT s SF 47 2o A |
B &Sl (@934 :
(A) << (a) B)  (a)93R (b) ©" (@, ()9 (d D) (b)Y (c)
19. TR 96/ F9RR SR Gl S SR SErEEe fafreTa or -
(@)  SITERT SETR SR @RI SeeEEe’ hRAR, AR SRR e, Iurik SR e
GG ThRATT
(b) ST 2R T ST e HfERMiel ST oo
(€ ST SRR HATHTEH! ST T
(d) ST TR ST fsATS i ol
IR fFTel wrE’ -
@) (@)’ B) () (b) © @@®IE O ()
19. = foq T -/ T St g o0t g iR faem & & d g 2/8 2
(@) Jfsd Faa Sifasw IR few TRadd § Ty W@ €, fog foma 9 amtae, s iR et
a1 A ¥ |
) dIfs TufeR fog faema T stfaem wfewan €1
© Towm & fom gfg & & wedt |
d) Ifs IR fosma T e R e 7
IS I I ¢ FehTfera
A) o (a) B)  (a) 3R (b) © (@@ DO (b)I()
MPT-19/P-1/H 22
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19. Which of the following statements on the concept of growth and development of a child
is/are correct ?
(@) Growth refers to only biological and physical changes but development refers to mental, social and
emotional changes.
(b)  Growth is static but development is a continuous process.
(0  Growth can’tbe taken place without development.
(d)  Growth and development are taken place throughout the life.
Find the correct answer :
(A)  Only (a) (B)  (a)and (b) © (@ (b)and(d) D) (b)and(c)
20. ST 1o, T3RowaT 13 Wit
(A) WS ST e B) 7 Jraweix P
Q) SIS STt AT e (D) dfseRA, Jaud, SFaTT, THRFeE e e
20. ST Sy Thowr 3 I1e
(&) VARSI SPTNIE #3
B) 7 Javsys P
Q)  SIN&BRITo! (maladjustment) I1 SFSIF STHTT A1 13
D) AfoeRH, JfauH, T, MAPFSIF JKTIE #3
20.  ERfEfrETR siifermE SwEn gieamn Ser -
(A) o gEFem {ify gie
(B) TR &G Hiell Tl gfea
©  TIRISRA I S e giea
(D)  TTHFAT T, Fiell M1, S, B wem fifa giear
20. G o7ed H, SAfFashHT fTg] 1 e
(A) TS &Y Y SFHHEEH g ®) = Sfswm g
(©  SToHerE JHE B el ¥y (D) awEH, gigam, fUse, Amfas w1 § s [y
20. Ininclusive term, exceptional children means:
(A)  the children with mental disabilities
(B) thechildren with low IQ
(©)  thechildren with maladjustment problem
(D)  the gifted, intelligent, backward, mentally retarded childrens
MPT-19/P-1/H 23 = P.T.O.
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21.

21.

21.

21.

MPT-19/P-1/H 24 3
7

TEeT' SAMSEBAT OGNS, BeTe MATRINE [ToI® * ARISH’ 2T 87 W (&FIF0T 2

)

(B)

©

©)

fAoreTSiae AEISH — 1IN IF (TS AT — (SRIPOTSI S AT — TSI AT
— RSS2

(SiiToSiae AATSH — MIETSiae AT — T HF (FESTiao AASH — TaSiao A TS
— RSS2

(ST esae AT — TN IF (RS0 AT — [Frersive A@ed — Sk siae
AT — TTAS Vo AT

TN P (TESTT ATSH — [FoaiSiae 2@ — FTasiae AT — (SRPoSITo AT S
- TR SIS 2

NITCST (AT ©F o, (64 (RST oI SH’ ST RRT B @ (P G 7

)

B)

©

©)

frreTsiae A — SR €3 TSP ATTTSH — (SIRFOIS e ATSH — THTSTS
AT — I RF SIS AT

(SRFeISTe AT — IeSTe AT — ST Q32 @IS 4TS — T TS o
AT — IRF SIS AT

SiPoisTe 4T - SIFEINT W3 FXSTTo AWST - Harfesive 9@ —»
S IF TS TS AT — TSNS A TS

O U8 @RS ATTSH — FaHESe 2ATHSH — TS e AT — (SIRPOISITe
ARSH — RIS TS A TS

Maslow T theory of motivation FEH TMEAM 9 “needs” 1 o wIR -

)
®)
©

©)

Safety needs — Love and belongingness needs — Physiological needs — Esteem needs —
Self-actualization needs

Physiological needs — Safety needs — Love and belongingness needs — Esteem needs —
Self-actualization needs

Physiological needs — Love and belongingness needs — Safety needs — Self-actualization needs
— Esteem needs

Love and belongingness needs — Safety needs — Esteem needs — Physiological needs —
Self-actualization needs

Toel ARIR T o STHER, 9 I T wHier | g 1 IS % -9 2

)

(B)

©

©)

RETHSE FAST — AR SR 8T TS — SHforhdcheh FASH — S FHSH —
SATCHTSTehRTHICHeR FTSH

SifershaTereh TS — FUaTeHe TS — IR 3R SElcHe TS — HHMASH FeH —
SATCHTSTehTHICHeh FTSH

SifeehareTes TS — R 3T TSI FAISH — GRATHE FAISH — SATH{ShIETeS JAeH —
HHESTR S

TR 3R TTRTHE TS — GUETHS TS — TS TS — Sifohdicde FasH —
HATHTTRTHICH FTST

3]



21.  Which of the following is correct sequence of “needs” according to Maslow’s theory of motivation ?
(A) Safety needs — Love and belongingness needs — Physiological needs — Esteem needs — Self-
actualization needs
(B) Physiological needs — Safety needs — Love and belongingness needs — Esteem needs — Self-
actualization needs
(©) Physiological needs — Love and belongingness needs — Safety needs— Self-actualization needs
— Esteem needs
(D) Love and belongingness needs — Safety needs — Esteem needs — Physiological needs — Self-
actualization needs
22. O (FIFSH TSRS oA MIeTold ARNIATT I STSFleTold AR AfNFTe 827 a3 IF9
et 2
(A) TP (B) O © 2 D) @
22. FIF @ TS JSAIeToR AREIR S S erod SAMA R SRem So o 3w 3wy
TR ?
(A) PR (B) T © o D) &
22, TEMAM 9R g1 AR foeif emam 9rSqH e gamhri foet gamf e s aEite ke -
(A) - McNeil (B) Torence (©)  Thurston (D) Kent
22, Ty=fafEd ®F Al F GoAESRA (Creativity) T TRATIA & AT GSHIERAT o IURM FHE o TRATIH T
HEYH Hew Ye fond o1 ?
(A) HETEA B) ™ © U=N D) H=
22.  Who was the first person to emphasise that creativityshould be measured by measuring its elements ?
(A)  McNeil (B)  Torence (©  Thurston (D) Kent
23. PRFIT EFRTes 876 ©o18 (FH0T I FaT 7= 72
(A) UFO MBI ARTHAT FANFIS (B) S Yo (et 3= 169
Q) PrFe e I 717 sffvada (D) Cifss S fqLiEe
23. PR STiates 8 Hod @RiG SrRET 9 7
(A)  AFS AT ARTS T BRTFAT (B)  SAYS Yels A @iet 167
Q) PSR @PTet W3 SFIF e D) s S iR
23, WIS Wiy WA fSfaeTe MRt o8 Wit weE S -
(A) ¥R ATGAEAR WG SEafF ™ (B) ARSI GHRE STEs AREA™
© HRAMM TEd TR EIf-orE HiaFE (D) Sidlensdii Sifas! e
MPT-19/P-1/H 25 = P.T.O.
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23. T 1 Wi &R H Frefafed -1 e @ e s ?
(A)  THd STRUNEF IREdT Sl AT (B) S Hediohd o1 v Fated
©  Toreror o s iR gt o afteds (D) et IewF 1 FraRo
23.  Which of the following is not carried out in Post-Active Phase of Teaching ?
(A)  Defining the real behavioural change
(B)  Selection of appropriate evaluation techniques
(©  Changing the techniques and strategies of teaching
(D)  Setting of educational objectives
24. Preog g@o! dnie Tafe
A) Fres @Fus (B) Ta-FE &FES
© wERSsH fofew (D) SR @Fas
24,  PTROR TGO A0 @b
A Fres @ ras (B) Ra-%ral &FFus
© ARSI fofes (D) AR @Fas
24. TadfY 2A€E (Lecture method) I STTe HIFH —
(A)  TRIfTREE 1% WM™ (Teacher centric)
(B) THIFETHREE fH% WM™ (Student centric)
© T fafrree’ faen e (Psychological based)
(D) STREmEE’ fH%E WA (Envitonment céntric)
24. foreror st =AREAT YoM WS
(a) Tose wfzsw (B) BT/ hiwh
(©  FAIfa gfshan (D) uREwwfEs
24.  Lecture method of teaching is:
(A) Teacher centric (B)  Student centric
(©  Psychological based (D)  Environment centric
25. HReificr Fiaies i@, RS 4ReEE §o Fiace, FrFss 103 SAMTESCF ©ie *fmietol 27 :
(&) IgOreTals (B)  AICTIBAT @i
© o mis D) A9 xS
25. 7o Frsde crfises, s ISt 16 A1 S5, PR Sy S0E Bl Aol 26t :
A) IgolTafle (B)  HICETIBAT @i
© oz Tmfs (D) ol ommfs
MPT-19/P-1/H 26 F e
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25.  Abstract FTIIE! concrete HEXd B TTd TG AT WeITE & WRIFTR rafas STeam! S -
(A)  Lecture method (forgjf%r a1ree)
(B)  Discussion method (HTEUT 3G )
(© Home Assignment method (7 gel HEREIEC))
(D) Demonstration method (faferg a1ee)
25. R TIfq 1 S A1 St heq H, forgd eRonedi 1 7t e % fern, forerenl % foe wed sifye stmugfa ©
(A) =IEIH ugfd (B) T UBfd
©  TEHH Tgia (D) W3 wgfd
25.  To concretise the abstract concepts in a slow learners’ classroom the best method for a teacher is :
(A)  Lecture method (B)  Discussion method
(©  Home Assignment method (D) Demonstration method
26. e BEICo, SRILATT FrRTTers SMeRI699 I ©aTo MAIEIRT (@IN0T JBROE Sl ST 7
(A) RS CAETIYETR IR TS st a%iq F7 |
(B) TOSEFF SeSIfHF FTG! A% HiN A |
)  IAT ReTE 57 (@IS Oy s efiesy |
D) TITe STeifds Rmpefas &5t i aress |
26. FrEs B SoFEede FRETREE SeTR MaT S [H05 (MeHT (FH16 SACAE Bie SR ?
(A) RS (RETIYER Sy w11 Seaist ewie 47|
(B) SITEE oy 4P FRITO! o7 FIC A |
©) A e 7T J1 W (e s 31|
(D) TINS o I o5 ot firts 3@ |
26. RN FE I GAHE GfearhRE! 16l S@RHEH MeR 96 Al Jefed T8 -
(A)  TREHTEEE TE SIS @re S @
B) A IR fedre seife g
©  SE S Rl e foERE! TR A g
(D)  TEISTE Heiiems HRE TRT ST @i
26. foreren & w9 H stqremar frgred 1 st & fau frefafed wH-a1 god sifus sag st © 2
(a) oo § Wehs & faw wara giaen e[ |
(B) 3T 3TcAIh TRl Yo AT =T |
© I fovy een TE et BT <A1 AT |
D) Foft H srcaferes Aferes <ael S =T |
MPT-19/P-1/H 27 E‘ P.T.O.
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26.  Asateacher, which of the following is the best way to motivate delinquent children ?
(A)  Enough opportunity for games and sports should be provided in school
(B)  Excess freedom should be provided to them
(©)  They should be left without any treatment
(D)  Excess academic pressure should be given in the class
27. P9 o4 Saiow Fress gt :
A) FreiecE e (B) ST ST FCITO]
© IF, wrilas e [ (D) FTEYETE
27.  FOER ASY Tafote FEEEd e :
a) FrEig (I ey (B) TSI SN FT
© %, WS Qe HE=s D) FOQYEH
27. fauif@ T_a (Project Method) 3118 WRIFTRI ®RIATEM fagmmn Siem -
(A)  HIIFERRIES i (B)  SHTERE
© W, W SR SeATR (O)  forimIfR (Authoritative)
27.  Tie101 =1 Wehed Ugfa H f¥eren shi off¥fent :
() fomneff | «ft wfra (B) S GHIYM A Sl
© o7, Swifte o fdes (D) e
27.  Inproject method of teaching, the role of the teacher is )
(A)  Active than students (B)  Problem solver
(©)  Friend, Philosopher and Guide (D)  Authoritative
28. wefe Al ffesis #191 IR Tshega @i Epn 1t Sfeveat
(@) TSI @R ey e 5eoiF |
(b) T B STES AT T |
(© werole riels SafeRiecs (g 8% M|
(d) T TSN IE T[T AFhed |
()  SIRPE STl I |
O Reeco! A1fs Sfereat
(A) (@9 (b) B () B) (@7 (a), () I (e)
©  @FE(a), (d) 3= () D) @9 (@), (0), (d) 3T (e)
28. AIbd M3 SIfets (AF IY AN fFrea @FHEsfa @@ w4 :
() STNSFelE@ @R STiay 938 ST E@wIe |
(b) S BN SRER AT |
(0 worsie iR (IS Sfaite @F $Fg @aeT |
d) TR FEeR Q3L IFeIeTS AP |
() IR ST (AF  F |
& TS 1o14
(A) @ (b) 92 (c) (B) @ (a), (c) 93¢ (e)
© @ (a), (d) 932 (o) D) & (a), (), (d) 992 ()
MPT-19/P-1/H 28 rull
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28.  TIEMIE B RIRCTSHER™ ¥ Extrovert personality ﬂl@%@ ESIRECH

(@  Socially very active and sensitive.

(b)  Always found busy in thinking.

(0 Emphasis on individual work rather than group work.

(d)  Flexible outlook and friendly in nature.

()  Freefromemotional problems.

R Tt wrrE’ -

@) () I () T’ ®B) (@) () () T’

© (@) (d) S (e) ST’ D) (@) () (d) W (e) T’
28. Tr=fafed g=t & sfeqel SAfaaa 1 foRial 99g 1 97 S ¢

() G &9 | 1fye |fha IR Hadt |

(b) oI faam eraeen ¥ Wl €|

© Smfes foha | off scforan # @1fees e <@

d) T gl o) Afgel yefa @

(€  STafiTeH ToE § o Bt Wl 5

Y5 Tersheq =l QT

(&) T (b) 3R (0) B) T (@) (0) R (e)

© T (), (d) R (e) (D) F (), (c), (d) TR (e)
28.  Identify the characteristics of an extrovert personality from the list given below :

(@) Socially very active and sensitive.

(b)  Always found busy in thinking.

()  Emphasis on individual work rather than groupwork.

(d)  Flexible outlook and friendly in nature.

()  Freefrom emotional problems.

Choose the correct option :

(A)  (b)and (c) only (B)" (a),(c)and (e) only

©  (a),(d)and (€) only (D)  (a), (), (d)and (¢) only
29. ©OIF (FIFCOIF IR Fo1ed] Frsmia =7 9

) Fress TSt F FOI O B) Fress ez ==

© PFremas Frees fFawaIfos (D) Fress 7T Swenfefes omE
29. SR @IAGA 7T FeTel™] FrFmiT 2 2

(A) FreEd TYeT 938 FEBEOT B) FreEd REIEs Sid

© FremE e FRmgafiser D) Fress et SorTieles Aona
29. TR Al BRIATE ST Hi7E -

(A)  ®HRIFRE Yo SRl @ Tiemem

(B)  HRIFRA s wrE e

© BRI BRIFTRE @it T S

O) ¥ifE T BRIFRE ®RiAE
MPT-19/P-1/H 29 = P.T.O.
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29. frefafed ¥ § #F-1 Arheavfed famem 82
(A) Torereni =6t Ty SR FedeAfTST | (B)  Trerhi =i faereRg 1 9 |
© Toaem ¥ frernl w1 gerafe@ gATl (D) TreTeRl o g1 SR Wee AT |
29.  Effective Teachingis a result of :
(A) Teacher's honesty and commitment (B) Teacher’s knowledge on content
(©)  Teacher’s regularity in teaching (D)  Objective based teaching by teachers
30. PRITSE RSMT Ogics, e (@ F0T ASBHE [KSHT SPNRI W7 AR 2
(A) SRR THRIEFT AT — 2f1F LB AT — 7S AefFaras 757 — [fEge sefrrars srfix
(B) I SIS 2RA — STIRT AL AT — 7S AefFarars 757 — [fge sefrrars srfix
© RfEEe Sefraras A — §o SfFars 2= — 21 STLosars 2RISR — JER! AL A5
(D) SRR TBRIEAFT AT — 2f1F TBAF A5 — [ Tefrarars 25w — 76 Aefrarars sy
30. PRITST KPR O 0, [Hba @F6 A KFCTE S 87 = 7
(A)  STRTIAT TV MR — 21T LTS S — T SefFmrars i — [z stefgras i
(B)  ATF FITIF R — NI ABLIAE AR — TS e s ARy — R stefirarars s
© e Ffrmras s~/ - 16 Sefierars A — o1 TS {7 — FE@A AL =
(D)  STRTEAT FBIETT T — ATF TS 1 — [ FAfrarars M - 76 Afrrras s~
30. TSt SwRMY sifed MerRf o oreEl Wi Fomi e 1 4R Wi -
(A) ~ Sensorimotor stage — Preoperational stage — Concrete operational stage — Formal operational
stage
B) Pregoperational stage — Sensorimotor stage — Concrete operational stage — Formal operational
stage
© Forgmal operational stage — Concrete operational stage — Preoperational stage — Sensorimotor
stage
(D) Sensorimotor stage — Preoperational stage — Formal operational stage — Concrete operational
stage
30. faam =1 foehm &1 d % SO, Frefafed wF-u1 TS foswm #1 W) 99E S sk § 2
(A) HoR G I TAE — U GalcHeh T — Td dishaTceh 941 — faf¥ea Gfsraretes wa
(B)  UTeh HATHS T — HoQl HaleH hl TaATd — Td HishATeH Faia — fafeer isharees waa
© fafea diwares T — T4 Gieares 1@ — T S99 — Hodl Fare Sl a4
(D) GO HaTEH 1 TAT — Wi e g — fafiea Giwarers w@f - gd Shears @i
30. According to Piaget theory of development, what is the correct sequence of stages of cognitive

development?

(A) Sensorimotor stage — Preoperational stage — Concrete operational stage —
Formal operational stage

(B) Preoperational stage — Sensorimotor stage — Concrete operational stage —
Formal operational stage

(©)  Formal operational stage — Concrete operational stage — Preoperational stage — Sensorimotor
stage

(D) Sensorimotor stage — Preoperational stage — Formal operational stage —
Concrete operational stage

MPT-19/P-1/H 30 ey
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PART - II : Mathematics

31. it 95T RUSE ¢ FOIT 299 AT BT FF, (O O3 g usot @b :
A) G B) @Y
© SmEEE (D) ®[{F GOIe 937
31. A OFD b (S ¢ G319 *R~9RF eI W8T I, O (13 beuSIb UMb
(A) Dot B) WS
(©) SIBKS (%A (parallelogram) (D) TET M3T 9FH3 77
31, Sfc HFa srarf-ersf T et Te Merd g9 Wilete faare, teet o srEf-ersa 2
A) gufsEH B) ™
© THM Ty (D) TS HEe 7T
31. afc sk wqys % foemvl SHi T TR 1 TR wrE § fgfaamnfsa s € 99 a8 wgys e
(A) HHAS a@ﬁa (trapezium) (B) @:ﬁl@“jﬂ (thombus)
C) HHI® a@“iﬁ (parallelogram) (D) U ot &
31.  If the diagonals of a quadrilateral bisect each other at right-angles, then this quadrilateralis a :
(A) trapezium (B)  rhombus
(© parallelogram (D)  none of theabove
32, 4:203STw, NG 3712 901 $I0T [oiera NIeH (169 A ®'q ;
@ o ® 10 Q & @) 20°
32, 4:205W WAD €32 ITR 15T ZHF WK @I AT T 201 72
A)  0° B) 10° © 5° D) 20°
32,  4:20RemamE, fafte TR w1 g AR TSRE @i faerest SmE -
A)  0° B) 10° © 5 D) 20°
32, o TSI I WHA 4 : 20 Bl T, TAe 3R wyve &6t S g % <= 1 107 BT
@ o ® 10 © 5 ©) 20°
32.  The angle between the minute hand and the hour hand of a clock when the time is 4 : 20, is :
@ o ® 10° © 5 ©) 20°
SPACE FOR ROUGH WORK
MPT-19/P-1/H 31 ot P.T.O.
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33.  Ff% GBT TRATT 100% T T1F 16 3T, (G0 FATHIF 50% T 7T o0 7' 7
A) 16 B) 12 © 10 D) 8
33.  3fit 96 F2UT 100% AT WIF 16 T, O A5G 50% O NI Fo (& ?
A) 16 B 12 © 10 D) 8
33.  Sfc HAE At 100% 7 7T 16 S, oTeet o sWfSHIN 50% 1 A1 S& SiH ?
A) 16 B 12 © 10 D) 8
33. Afc T @& H 100% (H¥IA) 16 ¥ 1 T 39 H&AT 1 50% e 2 ?
A) 16 B) 12 © 10 D) 8
33. If100% of a number is 16, what is the 50% of that number ?
A) 16 B) 12 © 10 D) 8
34. 3C 2B 4A
27A ? 64B
9C 4A 16B
(A) 8C (B)  12B
Q@ 16C (D) 18C
35. 10 S WIRS 57T I 60 A2 | T T §SH1. Y I3 488 2 (008 FIBITSTHS 51T 307 o1l |
(A) 50 B) 52 Q@ 56 D) 60
35. 10T FIF(ET 51 T 60 A% | T ©IT NCKE8 S1eAsl (1D I3997 488 3, B I GESIAT 51 I8 F0 X d 7
(A) 50 B) 52 © 56 D) 60
35. W10 HHAM TR =181 60 SER | < |1 8 G TR TSt 488 ST, 3T6aT 3TIET |- HHEf TR SHre fegd |
(A) 50 (B) 52 © 56 D) 60
35. 10 AfFEl 1 3Td 21 60 I8 71 Afe ITH & 8 ATl Fi Ft 3T 488 7, 7@ k! < Afkl it Ao
SIPRCISAEC L
(A) 50 (B) 52 © 56 D) 60
35. Theaverage age of 10 persons is 60 years. If the total age of 8 persons be 488, then find the average age of

the rest of the two persons.
A) 50 (B) 52 © 56 D) 60

MPT-19/P-1/H 32
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36. HIRG(S NP AN FLLICOT 27 -
@) 1 ® 2 © 3 O 4
36. SRGE (RID AN 57T 26T :
@ 1 B 2 © 3 D) 4
36.  SEIUA TNEURAR SHSHRET Si=my -
@) 1 ® 2 © 3 O 4
36. Hed Bl YK G (Composite number) 7!
@) 1 ® 2 © 3 D) 4
36.  Smallest composite number is :
@ 1 B 2 © 3 D) 4
37. OG0T ITICHIONT FFCeT o7’ IF UF (FUTS A FERT LT | (1% [24eTo, @A O3 o7'I[ 7T 73 739 2[T
TART IR 51’3 | IS AT o7 FIF FL5T [P 2
A) 27 B) 37 © 38 )" 39
37. QB0 ETECT TFeT (@ETE OF IS TG FAAT 26T (73 | &[T G (FIAT 90 (61 FIF 13 2418
(ACF SARLAT AT (56T | B CITFCF (LT AL Fo ?
@A) 27 B) 37 © 38 D) 39
37. Y ol e T e 1 BRE Gy fSREres e srer | o fER @i 9 St st
T WX TR TSR7f A STem | el Were T IaTai STHISTHIAT sidsl 2
Q) 27 B) 37 © 38 D) 39
37. Uk el & D ol Teh 1 H TSl foha T | Teh B bl 58 H&AT ST a0 W Seitdal of | el o fohaa
BAT?
@A) 27 B) 37 Q 38 D) 39
37.  Aclass of boys stands in a single line. One boy is nineteenth in order from both the ends. How many boys
are there in the class ?
A) 27 B) 37 © 38 D) 39
SPACE FOR ROUGH WORK
MPT-19/P-1/H 33 = P.T.O.
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38. @[T fbactre 3 fagsia A4 274

(A) 10 B 19 © 21 D) 23
38.  $OI@ (el faftrs fag s sTeds 36 2

(A) 10 B 19 © 21 D) 23
38.  TISIGTE ST WEIRI SRET-2IeH e TSR Sher -

(A) 10 B 19 © 21 D) 23
38. oW fau T eepfd H fhaw I (triangles) T ?

(A 10 B 19 © 21 D) 23
38.  Find the number of triangles in the figure given above.

(A 10 B 19 ©. 21 ©)" 23
39. oM@ (—, —j x 51371 : &3 (f, ij )

3" 16
N 2 S 9 16
@ 7 ® 3 Q@ T (D)
- (é 2) - (é 2)

39. AL | v o)X NIALB. | T

N 2 o4 9 16

@3 ® 3 © T D)

4 9
2 | =, — | =2

39.  gELE ( , jx é.mm(?) 16)

N 3 . ) 16

@7 ® 3 © T )

SPACE FOR ROUGH WORK
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: 9 (49
-, — X ‘q’g‘a” -, — =7
39. T (3 léj (3 16)
5 4 9 16
@A) 7 ® 3 © 1% O
39. LCM. (é, i) x H.CF. (é, i) =7
3" 16 3" 16
N 3 o4 9 1
@A) 7 ® 3 © T @ 5
40. TMA,B, CATW +, —, X I, (O (10C4)A(4C4)B6 I W [F7'T ?
(&) 60 B) 56 © 50 (D) 46
40. TIMA,B,CUINHF @W (3]6F) +, —, X =, O (10C4)A(4C4)B6 QT T F© 2(< ?
(A) 60 B) 56 © 50 (D) 46
40. SfCA,B,CAAWRY +, —, x T fafrerl sT&a (10C4) A (4C4)B6 T THT I -
&) 60 B) 56 © 50 D) 46
40. IS A, B,C HAY +, —, x HHI M, o (10C4)A(4C4)B6 T HIT 1 BRI 2
(&) 60 B) 56 © 50 (D) 46
40.  If A stands for +, B stands for —, C stands for X, then what is the value of (10C4)A(4C4)B6 ?
(A) 60 B) 56 @ 50 (D) 46
41. 60 cm X 54 cm X 30 cm [T QB TIeF 7 [FZHF 6 cm IS T9I< 520 16 I 25T | T AR
TP J1F7 25 GItS 5ICE0 AT, (S0 TI6T IFRIOS i 53ces 1w 2
(A) 11,250 B) 15,625 © 4,500 (D) 2,700
41.  60cm X 54 cm X 30 cm SRGAT FET @ 10, 6 om IRFS (5 67 IT90F0@T (cubes) 71T ©RE FT 567 |
T AT T7CF@ 1T 2501 I BHCETD AHF, ©F TG I oS 5IE0 B 7
(A) 11,250 (B) 15,625 © 4,500 (D) 2,700
41. 60 cm x 54 cm X 30 cm ST T TS STRYaTe HEH 6 cm G 1 51 (cube) 1 RESITETE Y§HAM S&H |
Jfe A% SR (cube) ATRFTS TR 25 Fehele AT, Bl el dATehaTe TR sl Fehaie A ?
(A) 11,250 (B) 15,625 © 4,500 (D) 2,700
SPACE FOR ROUGH WORK
MPT-19/P-1/H 35 = P.T.O.
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41. TH 9 I H1 3TM (dimension) 60 cm X 54 cm X 30 cm § | 3T BIS T4 (cubes) FTHF 981 6 cm & w1
T 1 AT Y&H 51 (cube) TR H 25 Alchele T, Td 91¢ T | foha =ishore 81 Tahd § 2
(A) 11,250 B) 15,625 © 4,500 (D) 2,700

41.  Alarge box of dimension 60 cm X 54 cm X 30 cm is filled with small cubes with side 6 cm. If each cube
contains 25 chocolates, then how many chocolates can be placed in the large box ?
(A) 11,250 (B) 15,625 © 4,500 (D) 2,700

42. NME-ICT (&9 Igq® H<E FT (=ee ?
(A) 2009 (B) 2011 © 2013 (D) 2015

42.  NME-ICT (&9 I%d I8 FT RIS 7
(A) 2009 B) 2011 © 2013 (D) 2015

42.  NME-ICT 8 99 SERE SREAE SR -
(A) 2009 (B) 2011 © 2013 (D) 2015

42,  NME-ICT &H § a8 § YRF g7l o1 ?
(A) -~ 2009 B) 2011 © 2013 (D) 2015

42.  In which year NME-ICT was launched ?
(A) 2009 B) 2011 @ 2013 (D) 2015

43.  FICS 901 (1T 2RSIBITS 18,000 5F1CF el e || 1. 9Bl (118 20% &11S 3 SF0TS 20% ToTF51H B
1ol 2 | IS Yo ATe JT (ETIFAT Sffamie 27
() 2% CETIFEIT B) 25% s © 4% Tl D) 45% s

43. A @ol [ 3@ | 2RST6a ara 3315 18,000 BT | (T 9F (G (AT 20% ST @ S5 20% (SR
e 31 ORI T ele AT @I 2R ©f (K I 7
(&) 2% TR B) 25%dATS © 4% T D) 45%3TS

43. TSR HM TRISE! HRAE 18,000 TS ST | fordl O TRIgAd 20% TATTH TR T[EH HEETE 20% Sl SIS |

TS T AR 3T SR foareT s -
(A) 2% @@ (B)  2.5% AT © 4% @@ (D)  4.5% AT

MPT-19/P-1/H 36
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43. TSI A 2 EIS YIS I 18,000 H A=A IH Tk WS H 20% o 3R G H 20% THAH 9 TS| TS A
A TR I1 AT HT Fa9d © -
(A) 2% loss (JRAM) (B)  2.5% profit (M) (C) 4% loss (FHEF) (D)  4.5% profit ()
43. Rajsold two horses forX 18,000 each. On one he gained 20% and on the other he lost 20%. His total lost or
gain is :
(A) 2% loss (B)  2.5% profit © 4% loss (D)  4.5% profit
44. ot RRvE wicsE vl @2t e #ifa 2
@a 1 B 2 © 3 (D) PR
44. 73 92 v Feafer @At siwcs A1 7
@ 1 B 2 © 3 (D)  =PIRAS
44. AR o oS 99 98 fae S grie 2
@) 1 B 2 © 3 (D)  Infinity (STSHATEI)
44, < fageli & I § fohaet Tamd i < el © 2
A 1 B) 2 © 3 (D)  3TESA (Infinity)
44. How many lines can be drawn through two given points ?
@A) 1 ®) 2 © 3 (D) Infinity
45.  afk OBf I5fCFag FIfeT 9 cm I 3 cm L& OB Ao FIeTT ST 2F, (668 I Faco AReor =T ot
T
(A) 3cm (B) 9cm © 27cm D) 8lcm
45. A GFOI I5CF@T TFAFA 9 cm UL 3em LT CFO] HRAGCHEAI, CRAFAT SN =, O I5CFABT
ATSIT 127 T F© 2
(4) 3cm B) 9cm © 27cm (D) 8lcm
45. S AFY 1 ™M Tl 9 cm AR 3 cm TMAATE HAE STREAM @ifd THM S, el HFshH
T TEARA ASATLAT ST
(A) 3cm (B) 9cm © 27cm (D) 8lcm
45. I T o1 I &R (area of square) Th 3T o &H (area of rectangle) % THM B & fRRi &l TS
9 cm 3R 3 cm B, 78 YA (square)éﬁqﬂaﬁmﬁ’ﬁ :
(A) 3cm B) 9cm © 27cm (D) 8lcm
45.  If the area of a square is equal to the area of a rectangle having sides of length 9 cm and 3 cm, then the length
of each side of the square is :
(A) 3cm (B) 9cm © 27cm (D) 8lcm
SPACE FOR ROUGH WORK
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46. ©To S IIT FLTIIRT foose Sfercor 11 Sferaqt |
(Aa) 25 B) 36 © 64 D) 78
46. 96 ST FAT LIS NS ST eI (@7 F4 |
(A) 25 B) 36 © 64 O) 78
46.  TTRREE B STANTHIRRMAER TR st 9@’ = fag |
(A) 25 B) 36 © 64 O) 78
46. = fqu @ HEmsti & iR g 9= ol G Hahian |
(Aa) 25 B) 36 © 64 D) 78
46.  Choose the number which is different from others in the group :
(Aa) 25 B) 36 © 64 D) 78
47. GH,JL,NQ,SW,YD, _°
(A) LF ® F
© FL () EL
48. It ABI STTOR 2%, (MO0 10 m I HF HTGOIR TINT 40 m 2T, (608 JAGOIR AE LT ¢
A 5m (B) 10m ©. 15m D) 20m
48. I QG FToCH@d 248, (T (AT 10 m Y A2 RO EHad BT 40 m T, ©[@ FFoHabd 28
PORE?
Ay 5m (B) 10m © 15m D) 20m
48. S AMY A SRAT ARAAMEE 10 m T 3T STREAH FRATE FIHAMT 40 m ST, ST ST SR
(A) 5m (B) 10m © 15m (D) 20m
48. A U A i AT IHH! TS W 10 m FH ¥, 3R 3TH! uRfY 40 m , 791 3TIa <t =i arn -
(A) 5m (B) 10m © 15m (D) 20m
48.  If width of a rectangle is 10 m less than its length and the perimeter is 40 m, then the width of the rectangle
is:
A 5m (B) 10m © 15m D) 20m
SPACE FOR ROUGH WORK
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49.  ft QBT STRATIT GB35, 200 T 60% I ST 27, (OB TRATICOT LT 27
(A) 30 B) 60 © 120 (D) 200
49. 3% G F2UTF A8, 200 O 60% QT TNIF =T, ©F JLAIHT 7T Fo 3(J 7
(A) 30 B) 60 © 120 (D) 200
49.  Sfc & swfsmif 3 T 200 £ 60% 1 wHE SN, steen swfSIf wWEEE S -
(A) 30 B) 60 © 120 (D) 200
49. A TH H&A T AT, 200 T 60% o THAM BT &, T 39 AT T 37T BRI
(A) 30 B) 60 © 120 (D) 200
49. If twice of a number is 60% of 200, then half of that number will be :
(A) 30 (B) 60 © 120 (D) 200
50. T QBT SFwS ARSI, QB 4 m 12 RS 51 TR 05700 019 27 I HTo 11K ©lF 2% fofFa3q 27,
(08 JTOCDBIF FifeT 3T
(A) 4m? (B) 8m? ©)  9m? (D) 12 m?
50. I U6 FTFOrH@ AN, QT 4 m I [ I5Chcag AN 5T 7 Q7 TTOCHEAd (s
AET FoTR3T =, O IWOCFAGT CFATT IO R 7
(A) 4m? (B) 8m? © 9m? D) 12m?
50.  Sfc HITH ST ARAIE FaHmE 79 4 m S st S SRS STEAH AEemsa] 9 SR oM 19
S| STl AT Qe S -
(A)  4m? (B) 8m? © 9m? (D) 12m?
50. afc Uk 31ad i ufify, U o f99% T® 9T 4 m T, & UM €| 3T ht TS ITF IS A i+ T
¥ 9 3 1 & 2
(A) 4m? (B) 8m? © 9m? D) 12m?
50. If the perimeter of a rectangle is equal to perimeter of a square with sides 4 m each and the length of the
rectangle is thrice its breadth, then the area of the rectangle would be :
(A)  4m? (B) 8m? © 9m? (D) 12m?
SPACE FOR ROUGH WORK
MPT-19/P-1/H 39 = P.T.O.
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51. I (FICAT OF IRAl S_FF 10K 200 S FRst Sane 1 S 180 S S50 HTwo!of 2T, oI TS
W@ 70% AFFINT TSI 27, (S8 ATFFG FAFSIef AIFFGIT 5723 i 2
(A) 68 (B) 54 © 58 (D) 65

51. It @A Q6 AT 2AIFT S5 200 S FRFrF SEw Fd 932 180 & AR Soifvre A1, o
WIS W@ 70% AITHILT 211 B0, O oS AAF T @ ?
(A) 68 (B) 54 © 58 (D) 65

51. Sfc el U@’ A A& 91 200 FIHAERET SRS 3l SRI | 180 WIEHRE 3= e, sifr
M 70% TS BT STYAT BT | 3TeeTl Sl HUEThR 9’ 3Tsere YT genfad ?
(A) 68 (B) 54 © 58 (D) 65

51. afe fordl worw wien & ferw 200 fomneff emees st € @R 180 fomne wden # Sufterd Td €, SHS si=r A
Faret 70% wrenef Sl 2 €, 7 adven § st} fornfea o6t e fha @t 2
(A) 68 (B) 54 © 58 (D) 65

51.  If 200 students filled form for an entrance test and 180 appeared in the test out of which only 70% have
passed the test, then how many number of students failed the test ?
(A) 68 (B) 54 © 58 (D) 65

52. =it GO 31A5T 35% IGICT I WIF 189 T, (OGS LT 27
(A) 120 (B) 130 © 140 D) 150

52. A GFMG LA 35% i FA S TIF 189 =, O ARG F© 204 ?
(A) 120 (B) 130 © 140 (D) 150

52.  Sfc HFH STARSHRGE! 35% SRl S W1 189 ST, 3166l STAMSHIA S -
(A) 120 (B) 130 © 140 (D) 150

52. AfG Ush HEAT 35% SIgehs 189 B il € | 9998 Y& & :
(A) 120 (B) 130 © 140 (D) 150

52. A number if increased by 35% becomes 189. Then the number is :
(A) 120 (B) 130 © 140 (D) 150

53.  QTT (GFI® 50 feTBIF #IT &I 1Y | I8N, (GLFIOR (1 30% ©RS (R ITE | (BSIITHT 50% B FiRCeT
I fame b siaiT Arse 2
NI GG B) 10 feoT © 15 feroT (D) 20 feToT

53. Qb BiIfETs 50 foThra et 4t | 36N BifEfG wia 30% et ©f8 3 sy, B5ifEfG 50% ©f8 Face st
P [0 ST A TS 7
INEEAGE ®) 10T © 15T D) 20 IO

SPACE FOR ROUGH WORK
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53.  TiH IfeRAmE 50 feler < 91 g/ | <1 A 30% oTe ST € | SfehArE 50% T WA 3T SIfe feier < A ?
A) 5feaer ®) 10 feer © 15 fer D) 20 faer
53. T 2! H 50 Tl UM WR Tehd €| IAHM, T hadl 30% T M T | 2ehl bl 50% A & forg foham
X T Rl ST B 2
(A) 5 litres (TeR) (B) 10 litres (X)) () 15 litres (¥fX) (D) 20 litres (TfeR)
53.  Atankcanhold 50 litres of water. At present, itis only 30% full. How many litres of water is required to fill
50% of the tank ?
(A) 5lLitres (B) 10 Litres (©  15Litres (D) 20 Litres
28
S <
0% 0% % I 2 20
s
fg a@ S 12
3 S
E Z l_l
<30% 30-60% >60%
9« /999 /TR /¥ / Marks
54.  GRICAT O SFHIT Feriee] @799 ST BT ORI 2’ | [P TSiT A919T 989 60% ©F @iz ?
A 10% B) 20% @ 50% D) 25%
54,  CPICAT Q5 ATTHIF FeTRrel SR (GAT SR AT AR S 76T | 007 5o o1 SArFINa 777 60%
(AT @ 2
(A 10% B) 20% © 50% D) 25%
54. SO HIAY STIGH FReTgE TSeTe ST STalf s SeRi hIsTes| faf-2T STem | S8 gl ST
IR T/ 60% g =it ?
A 10% B) 20% ©  50% D) 25%
54. e WRIeT o GRUMH i SR GS-3TNG (Bar-diagram) § S TN T | fohew wfera faenfefi & TwR 60% &
e 82
A 10% B) 20% © 50% D) 25%
54. Inanexamination, the performance of students are represented by the bar diagram given above. Whatis
the percentage of students, who have obtained more than 60 % marks ?
(A 10% B) 20% ©  50% D) 25%
SPACE FOR ROUGH WORK
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55. ¥ OO fagsE et I=T W9 fagSoia ARBINE OF-9oRIGR SWF 3, fagSoR A4S
52
@A) omiEEE ®) W
© PR O Rz
55. A 4FfG fagrsw AfsTb =7 W19 fagSoa ARSINE U SORITR SN =¥, fagSis & 417 2
(@) R ® e
© SRR O fEwEz
55.  Sif HY ARET-emH Hhe G s Aot G faet 9 st °m aRrisi SHE S |
A AT T AT 2
(A) Isosceles (TS 1 STraEf~2r) (B)  Right-angled (&)
(O)  Equilateral (FTHM SArEf-2r) (D)  Obtuse (THI)
55. A Teh FreRTor o1 Ycish Ul SHeh TRfY i uesh-fal <, Benron foRg vehm et & ?
(A) isosceles (FHIGHE) (B)  right-angled (FehITT)
(©  equilateral (FHYST) (D)  obtuse (TdE=RR)
55. Ifeachside of a triangle is one-third of its perimeter, what kind of triangle is this ?
(A) Isosceles (B) Right-angled
(©  Equilateral (D) Obtuse
SPACE FOR ROUGH WORK
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56. 9T RST Y07 AUV &T: 7F: B S 5f: S: @3: @O 276 3 | Al SI QT TRATT UF- GO T 23 37,
(OB A0 AT R’]
A) 10 B) 23 © 12 D) 92
56. M HIG TV A5G, 3 ... T 276 3 3| BT UFOT AT UF-GORISTR T 23 3, B
S5 57ATIG YR
A) 10 B) 23 © 12 D) 92
56.  BEHAT QA SIS HIAA STATSHIA G:Om:41: SR 9041 A~ wiikd 276 311 3 1 fe 9f7 g smfemfy
SR ATH AEEN JHT 23 S, STeell e STHSHR S -
(A) 10 ®B) 23 © 12 O) 92
56. W ey <1 &A1 o TTEAH FHac (LCM) 3R HewH Famaacd (HCF) 58 9 276 3R 3 ¥ | AfS 3H% Th
& &l THh- et 23 §, 9 g de g
(A) 10 ®) 23 © 12 O) 92
56.  Letthe LCM and HCF of two numbers are 276 and 3 respectively. If the one-third of one number is 23, then
the other numberis :
(A) 10 ®) 23 © 12 O) 92
57. @99 Pl foaipTiae BIFT 7825 SRtet! SEIRoN e 9 ?
@) 3 ® 4 © 5 O 8
57. &A@ AT H@ipT@ @F eI 5iFa Solfifisd SFEad SWo s ?
@ 3 ® 4 © 5 O 8
57. TSI B WM TR Yugi Teld S SRS o -
@® 3 ® 4 © 5 © 8
57. W fIU T Sl wF-H Hem wedt sfufa (geometry) % SRR H TSR ® ?
@ 3 ® 4 © 5 © 8
57.  Which number is present in all the geometrical shapes in the figure given above ?
@ 3 ® 4 © 5 © 8
SPACE FOR ROUGH WORK
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58.  Aft OT poIF ISR 5 cm I TS 650 cm® =, (OB HSIORF Shof 2°F
(A) 40cm B) 25cm © 33cm (D) 45cm

58. I OFD (@FIFIF I8 (cylinder) T 5 cm QIR SRS 650 cm? =, B ([(@F151F BB (cylinder) Sho
PORE?
(A) 40cm B) 25cm © 33cm (D) 45cm

58.  Sfe 79 TG Wife™n 5 cm SR ISTRTRAT 650 cm3 ST 27seT G Shemgan s -
(A) 40cm B) 25cm © 33cm (D) 45cm

58. Afc U feiet 1 =™ 5 cm 3R foeiet &1 7M1 650 cm?, 7@ Toeiet i S 2t
(A) 40cm B) 25cm © 33cm (D) 45cm

58.  If the diameter of a cylinder is 5 cm and volume of the cylinder is 650 cm?, then height of the cylinder is :
(A) 40cm B) 25cm © 33cm (D) 45cm

59.  =fit OBt @RISR ST 8 cm 31 STHIBFIST A2 FOIETS (A5REET 16 cm 3, (668 GRS $1fer 2°3
(A) 85cm? (B) 54 cm? © 64cm? (D) 32cm?

59. Fft OFfG ARSI Sl 8 cm UIR STABFIS I2GHI @9 16 cm 2, O SIS tFawa
(area) PO R(T ?
(A) 85cm? (B) 54 cm? @ 64 cm? (D) 32cm?

59.  Sf AFE SURTEMT SHaEan 8 cm SR GHMLE WA T fS9@1ST 16 cm ST, 31sen SUfSamf @ifern s -
(A) 85cm? (B) 54 cm? © 64cm? (D) 32cm?

59. Afc U oA TS (trapezium) H TAHEE 8 cm ¥ R UMK 981 FH SIS 16 cm ¥, T 0@ g
(trapezium) shl &5 BT
(A) 85 cm? (B) 54 cm? © 64 cm? (D) 32 cm?

59.  If the height of a trapezium is 8 cm and sum of parallel sides is 16 cm, then the area of the trapezium is :
(A) 85cm? (B) 54 cm? © 64cm? (D) 32cm?

SPACE FOR ROUGH WORK
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60. TG GETd I SRF(FR0IF fowse @I 8% 7
(A) ST Yo STRUTT3, N5
(B) <= QOT GNfeTss 73T
Q) ST ONfEAS STRATIE SRpen
(D)  TNeT YT STLUTT SHILAT

60. 07 Sted Tt Sheasfera v @G w2
(A) T YW LB AT
B) 5 GG AT T
©) [ ANfers STLATE Sy
(D)  THETs STRATIF STLATT BT

60. TR a9 i (FRRET) ar ?
(A) TR SR AT SISTSR—EET (composite)
(B)  ferEEn TS AfH
©) T f AFSHEF S (odd) -
D) e s stf-smmen Semm fifg

60.  T=fAEd & 9 HIH-91 |el © 2
(A) Hel T9 GE&A (even numbers) T G (composite) T |
(B) A U 1T WA (prime number) |
(©) T YA H&AT (prime numbers) fTo™ (odd) 1

(D)  3A¥SH AT (prime number) 1 H&AT THEA (infinite) 7

60.  Which of the following statements is TRUE ?
(A)  Alleven numbers are composite
(B)  Zeroisa prime number
(©  All prime numbers are odd

(D)  There are infinite number of prime numbers

SPACE FOR ROUGH WORK
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PART - III : Environmental Studies

61l. CSREIb@ST:

(A) R Sees e g o1 B) R SwwT wicet S T |

(© Ve LTS 3 T | (D) STFIFF ARTSAT (@IAT 2SI T |
61. SCID@E :

(A) TR B e I S B) FTvR SIBER e o T

(©  oTVe BT 93 AP (D) SPFITTA NI ER (FIEAT A7 AT 7

61. Biodiversity 31T :
A)  Toge SEEr SREereT | ®) foge SeEet e |
© TS ST THE o (D) 1% TGS STl HIeTa S |

61. 9 fafaedn (Biodiversity)
(A) fouedE siod ®t WE Ifgaar el (B)  fovad™ siEd ol T =92 2 |
© T S B Uhdl Tl g (D) 19T U= 1 1S YIS -Tel @l ¢ |

61.  Biodiversity :
(A) increases towards the equator (B)  decreases towards the equator

(© remains same throughout the planet ' (D) . hasno effect on change in latitude

62. ~IfafERs 7o e dm 23
A a3 e B) Ta-Teta
© I=feras (D) @[T @IAGIES T

62. <l O 91 IGeE *ife AR 2 ¢
A) O et B) f&-frras
© I=MeIF (D) TET ST (FIF03 77

62.  Ecosystem 3119 IS MHRTEST -
(A)  wE fafsi (B) M faf¥Si
(©  HRREE (D) TSI He 7T

MPT-19/P-1/H 46 o
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62. fifeufert 93 (IRfaen) ¥ wfe yome @ ©

(A) TG (Unidirectional) (B) gfQecHeh (Bidirectional)

(©)  wgfeueHsh (Multidirectional) (D) Tk off T
62. Energy flowsin ecosystemis:

(A)  Unidirectional (B)  Bidirectional

(©)  Multidirectional (D)  None of the above
63. BAST %3 o156 ifos ?

(&) N Swet (B) S BI =T

©) IS (D)  ISO T WF AR [IEAT
63. BAST [0Ta 3% I 7

NIRRT o) (B) STSIH BES 515

©) ISR (D) ISO - NCo! ST BT
63. BAST 37 TTTeraf Al €A S ?

(A) TS aRH (B) FSHTTH

© 5@ gan (D) IS0 A sife Srsi@ren 4 et
63. BAST fortsh WIS ] ?

(A)  YHEHE SR (Global Warming)

(B) I fog (Ozone holes)

(© =AYt (Wild Life)

(D) ISO ST YTER] Yel e (Environmental Management Like ISO)
63. BAST is associated with :

(A) Global warming (B)  Ozone holes

© wildlife (D)  Environmental management like ISO
MPT-19/P-1/H 47 E‘ P.T.O.
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64. TPFG S8 SRIT @G0T b FeT2] FNIT FRCT TIRT FAT AN
A) =B (1) ®) =BG ICT)
© s D) Tl 4ffs
64. FTFIS ST SZIT &S0 @I o2 TR S5 BRI I ARG
(A) =3 G (IT) B) =3 B7G (ICT)
© AT ayfe (D)  CIsers ogfs
64. Hiciiazd M YA TRATTA STFRM AarEm SeeHr ol g
(A I B ICT
© FTIEEA R A’ (D) MR ok 'a '™
64. Torem ® I ST USfa w21 THg U & folt HeeR 3 aren YreEifitnt §
(A) IT ®) ICT
©  Ho e (O HeR i
64.  The use of technology to enhance learning process is called in education.
(A I (B) ICT
(© Information Technology (D) Communication Technology
65. WIS [FRIFerroiT SR S8 (AT AR SPIRLTSAS AIRIET (FI 2
(A)  SAfafERes Sm B) e
© snfisffos e (e
65. WIS FReTesrd (faan) e (Sey) 5718 26T AT SR{RLTSS ATRROAP o7 27
(A) ARSI a1 AR Sotmst (B) ey
©Q SRS TIET SR (D) 739 AgIA
65. o smafe Aafafefaft SEME dmfsmm sTermE SarEesE! 921 |
(A)  ORfaff T @) TufomR weEE
© Erfaffy g AeR e (D) INEEI gl SEE
MPT-19/P-1/H 48 %‘?@
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65. HIH & fsharRardl % R gite B9 arel ulRast & sTgfasrsie afed= ol el S ¢ :
() TR 3uga ®) fawi=
© uRfeefaes fefet (D) 9guu
65. Theunfavourable alteration of environment due to human activities is termed as :
(A)  Ecological disturbance (B) Catastrophe
(©  Ecological degradation (D) Pollution
66. IR (AT IR AT A2 7
(A) T B) A TERSWET
© FARGTEH ¢ (D) B TIESRIEG
66.  FTEa (ST @D MY A7IS H 7
(A) I (Smoke) (B) I TIZHIABT (Carbon dioxide)
(Q  FIZGICSH S5RT (Nitrogen gas) (D)  STIeTFIF GIZSHZT (Sulphur dioxide)
66. TR J¢l HIAHAT IRETE ool WA 71 2
NI (B)  ThIeIA T[STHAES
(@I AR R (D) HITHR-TETFIES
66. fTefaRad o § &9 9 91 Y5 & © 2
(A) e (B) IS SRS
©) e (D) TCH-SESREE
66.  Which of the following is not an air pollutant ?
(A)  Smoke (B)  Carbon dioxide
(© Nitrogen gas (D)  Sulphur-dioxide
67. R (PACOT ARG M[2AfeTS etifeg Snizad ?
(A)  SIET AR (B) FIETS!
© R (D) =R
67. T e @ ASIRSTE e afers oetifisn Snrzae ?
(&) BT ER (B)  FeTET (Cuscuta)
© wETEEEE D) =IE
MPT-19/P-1/H 49 E‘ P.T.O.
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67.  TRMEM se fSaien AE WS e faf -

(A) A=A fRE (Clown fish) (B)  HIHeRIEl (Cuscuta)

(C) TIEHEEST (Mycorrhiza) (D) @MEHA (Lichen)
67. Tr=fafed § @ SF-gt yefa afad g s 3 & ?

(A) AR T (B) STHRISA

© ST O FE
67.  Which of the following species is an example for link species ?

(A) Clownfish (B) Cuscuta

(©  Mycorrhiza (D) Lichen
68.  STRIRTIF BRI T STACOT (=R :

(A) dN/dt=rN B) dt/dN=1N © dN/IN=dt (D) 1N/dN=dt
68. SIPIRI BRI Ja @i 200% :

(A) dN/dt=rN B) dt/dN=1N @ dN/iN=dt D) N/dN=dt
68. s W@l o T2 wern S -

() dN/dt=1N B) dt/dN=1N © dN/IN=dt (D) 1N/dN=dt
68. T SEEAT IiG H A T :

() dN/dt=1N B) dt/dN=1N © dN/IN=dt (D) 1N/dN=dt
68.  The formula for exponential population growth is:

(A)  dN/dt=rN B) dt/dN=1N © dN/:N=dt D) N/dN=dt
69. oS FITTe e FUPFER [ (@9 (@A TBIAT ACF 2

(A) (OO FF | ret (B) BTSSR &Tof
©  «vwpEfog D) orEp ety
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69. BTG FFHE FHI0 IR [F @151 I SFRAT A 7
(A) FCF 0 @9 (Leukemia) (B) IEWST (@SN (bone marrow disease)
©) @RI D) ARG
69. Tai= e qAmE AIEw EwRATE |1 SRTHT WIehHT F1ee ?
(A)  forsehfa (B) I H M
© TEew g (D) wrse 'fafere fag
69. FiHe Thaedl H M T Al HHAMNE Bl HH-H1 WM S I HHEAT &l © 2
(A) TRl hehe UM (Leukemia) (B)  AELHSST Al AT (Bone Marrow Disease)
(O TEITEH (Asbestosis) (D) WEIH{A=RITEH (Cytosilicosis)
69. Cementfactory labourers are prone to:
(A) leukemia (B)  bone marrow disease
(©  asbestosis (D)  cytosilicosis
70. SIS’ BE AT I :
(A)  AMCMCHANS (B) - CLIOICHIINS
@ Leficwes (D) TSRS
70.  3Gd T ATV TN :
Q) WA B)  THICEATE
©) GortsTE (D) TSR
70. 3T AREREl Al B -
(A) o RN (B) wEIRE
©) TUTERE (D) TR
70. 3 (Ozone) TR T I :
(A) HRIR (Thermosphere) (B) TR (Stratosphere)
(©) SRR (Troposphere) (D) HHFRRR (Mesosphere)
70.  Ozone layer is found in:
(A)  Thermosphere (B)  Stratosphere
(©  Troposphere (D) Mesosphere
MPT-19/P-1/H 51 5 P.T.O.
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71,  SIRATIT IRTENe! [aiNe F 29 399
(A) SIS i ffas #iaT (B) U LATIF AT
© YOIl AT 71T (D) TfaifTe Sowiag o=t
71. SN IXTING! [ 116 ST 3 3314
(A) ST Jiag SiHited SR (B) W I TAF
© T RIET oA D) fT=ifRe SAmE
71. g9 9EE ARG o W S -
(A)  Yg 9G!S ZRA%E (B)  SHM GHEITHE
© T AFEIRE ©O) T arEEE SEfwE
71. S &I g5 el (uifia s S, 55
(A SEen gfg XA (B) SHIY
© TIRE (D) HHER el |
71.  The carrying capacity of population is determined by its :
(A) -~ population growth rate (B)  natality
(©  mortality (D) limiting resources
72, BT AE FA 4GS [Sq0T SIS (ST AT @I :
&)  oreTe fomer (B) bt feast
© ot fomet (D) Tt foret
72,  IefeE @ 7N dwiifod @ibtas (feqe) SIsis Afamet 2 Ie7 =7
A) e [@ibaset B) O &fbaser
©) st (afbarer D) o @ftaret
72, STHIGR 3T Ma SR srafe smfe SR TeRfy SSsrare! A S
(A)  SATTH SRR (Alpha diversity) ~ (B) 121 SBHRIGM (Beta diversity)
(©) T SEYREd (Gamma diversity) (D) e SRR (Delta diversity)
72.  STiafere 3R T geidt it fafaerdn & STdT i el ST €
(A) 3T fafaar @®) foer fafaema
© T fafaera (D) <o fafaya
MPT-19/P-1/H 52 %im@
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72.  Theratio between regional and local species diversity is measured as :

(A)  Alphadiversity (B)  Betadiversity

(©  Gamma diversity (D)  Delta diversity
73. Ofena @ACOT TR AT I~ ge I 2

Q) cas=m (B) T

Q)  oIzg TieT (D) s
73. SRR @F AT S 4T (water evaporates) 3 7

(A) @<= (Stomata) B) =< (Fruit)

(C)  *IMT-2*TT (Branch) (D) 1T T 7T (Root)
73. Tl e AT aREeT SE @ e SUrEd ?

(A) E'HMEI (Stomata) ®) e

© TE O
73.  3fET 1 DM | AW G FI A A S 2

(A) T (stomata) B) WA

© O 2
73..  Which part of a plant evaporates water ?

(A) Stomata (B)  Fruit

(©  Branch (D)~ Root
74, 9 @R RS (STIRFSIT T 7

A) e B) sffafas

© oot (D) 8FF (FICAT QbR 7=
74.  SI6F QAT @ YA SIS AT (SRPSIF TN ?

A s (B) AT

© =I5 D) ToiET @A 3
74, TR 99 HAEA ‘biodegradable waste’ 3T el ?

A) &R B) Hfefed

©  FUA T (D) TS HEe 7T
MPT-19/P-1/H 53 ot P.T.O.
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74. Tr=fafed ¥ § aeifeiead sTafire (Biodegradable Waste) F-91 & ?
(A) M= (Plastic) (B) UG (Polythene)
(© W (Glass) (D) T +Ff &
74.  Which of the following is a biodegradable waste ?
(A)  Plastics (B)  Polythene
© Glass (D) None of these
75.  QFF AT W :
(A) 1950 577 PIv® SruaRe ST RSt sffqier
B) IO AHfreTs Pro-we SNe (oS TeFe 7' IT- (R A
© I IAEI, (GEEFT PIS-TE HE FFF AB01F 85
(D) Qe TN S G
75. O Sf9QE (Nuclear Family) ¥T(H :
(A) 1950 SICEF 21T STUARS FFT (@ (@ ICAT 271
(B) WARAIE Prer-TieT @ BIvd (RieT- M I 31 A
© TRET- @@ T TBH, SR Promier @ sigani-Sigt Sissfe
(D) WY I S H/
75.  3ATeEl TEX (Nuclear family) S ST
(A) 1950 AT 316 SIHM ST SREFESTE TET
(B) S TEE foH-foh TR o fRamen fRarsil <= |
© Tracen-Trarsisi arme forarf fom-forrt SRt o fosmms g
(D) fafe a1 fraea’ oam
75.  Uehel URER 1 379
(A)  T11950 % G S o a1ell i ff aRar |
®) 58 fEr & sraid Amar-faar ok 9 9= €
© U ufEr fSEd s, 7 Arar-fyar oiR St €
(D) had afd-de |
75.  Nuclear family refers to :
(A)  Any family born after 1950
(B)  Family includes parents and their children
(©)  Entire family including children, their parents and grandparents
(D)  Only husband and wife
MPT-19/P-1/H 54 ey
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76. T (1S U196 DDT T W SIOATF BT SATEReF (I =7
(A) IR (B) IR SIAREEEA
© tea 0)  Tow e
76. SHed 5 (F6.58.15.) -7 wer FIHITT T(5a STLIHAE IeT 3 -
(A)  IREwieErE (B) ISR
© Sk IdT (D) TSI A7Fe
76.  Higher trophic level 3@ DDT S1fE TFh! FRIT @ g1 SR -
) I Tt (B) I TIHIRREA
Q) I AR T (D) & IgEA
76. I U TR R DDT SIH ISRk 57 shi 3ufearfd 1 el S &
(A)  Sifdeh STER (Bioremediation) (B)  SETEHTERI (Biomagnification)
© Sifaek gfs (Biological Enhancement) (D) Sifaeh 9guI (Biopollution)
76.  The occurrence of pesticides like DDT in higher trophic levels is termed as :
(A) bioremediation (B)  biomagnification
(©) Dbiological enhancement (D) __biopollution
77. RO IR =191 5[ B9 [ioF (orsifers Sieens Al Ao (T 23
(A) @ cifas (B) frifas
© TEwE (D) Q[T FIACOIEE 72T
77. RO IR =T LS 31 RGT (©T0eNfers STBiet SineAr Ao o7 =27
A) ST ®) Pmege
(Q  S=WA (Sibling) (D) TET ST (FIF03 T
77. N AR A SR AR SAHAE, TEH TP JAERISTR SAHEeE Be gFe fsenia@t g9
ST -
(A) Allopatric (B)  Sympatric
(©  Sibling (D) TSI HiEe 7T
MPT-19/P-1/H 55 2! P.T.O.
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77.  fordr anun % g0 stem feru wTw fafvm sdiiiferes ofee & e S o gemd §
(A)  sTerufeR ®) fomafe
(© ERIH (sibling) (D) T& ot &
77.  Species that occur in different geographical regions separated by special barrier :
(A)  Allopatric (B) Sympatric
(©) Sibling (D)  None of the above
78.  PAMWIGT @rot fFzg delis =3 7
(A) et (B) HCHITEA
© S (D) QNI
78. TAMIST st 6 ST =7 9
(A) 1l (mercury) (B) SEIREA
© oS (D) QY
78.  THATMIET (Minamata) SIHT | ST 2
(A)  ARfRSR (B) 3 'fed
© SRR (D) Heam
78.  foemaT I foheh gomel & 2 & 2
(A) 9 (Mercury) (B) ST (Iodine)
(€ A (Arsenic) (D)  FefHad (Cadmium)
78. Minamata disease is due to :
(A)  Mercury (B) Iodine
(©  Arsenic (D) Cadmium
79. G @O AT firaid - Radae s 75T 7
A SEuee! (B) SRS
© SRS (D) 72 Aoiifes neE efisciisie
79.  TIBF WA @ 7517 fqt s2- s 7 sxtforet s 71 7
A Rpoel (B) RIS
© ARSIer (D) 93 dwifed gexs gfswfet
MPT-19/P-1/H 56 P
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79.  TRAEM ¢ HFHA Co-evolution 1 SrmTd RIS B1eT ?

(A) Commensalism (B) Mutualism

(©) Parasitism (D) Interspecific competition
79. frAfafad SF-H R foma 9efas™ (Co-evolution) ¥ T&we &l © 2

(A)  FEWIfSId (Commensalism) (B) UREAREH NgF I fHgid (Mutualism)

Q)  USiIferd (Parasitism) (D) Bl CR RPN (Interspecific Competition)
79.  Which of the following interactions will not promote Co-evolution ?

(A) Commensalism (B) Mutualism

(©) Parasitism (D) Interspecific competition
80. weTe AT (@FFAF s P =i Afvs fagfe et =237 2

A) ©Re B) I © st (D) ZrwieARar
80. AITET (ST @IF (0T B3 I AfHTS ghe a3 23 ¢

(A)  ©EFS (B) Jifewer © Wit (D), SrHIFFRT
80. TR T8l TRGETE WTSHIE 3= T "HRE! TTell AR S ?

(A) HRd B) S © afrs’ (D) 3= g
0. frefafed o & ®H- <91 H a1er Aftehi &l @ § F1gaa fhan S € 2

(A) 9Rd (B) s © Hfsme (D) ESHRm
80.  Which of these countries employs child miners ?

(A) India (B)  Brazil (©  Mexico (D) Indonesia
81.  ITAT Az St T =7

(A)  SFRET 1 ©IfAF 91 7 SIfgCeT (B) ICFREF 15 SIfFYF 7T 21 SIfACeT

©) A< 1 ol «191 7 ©ifacet (D) A 15 SIfFAF 7191 21 SifaceT
81. ST TR SHAI FAT =

(A)  FEFRET 1S Q@ 7 S 7128 (B) IFRET 15 I (AT 21 SIfTY 7S

© TEF 1S (A 7 S oS (D) A 15 BIfFY (A 21 S 215
MPT-19/P-1/H 57 %f@@ P.T.O.
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81. =T e Hwre Wi Sy -
(A) IR SR GEM 1 R TTHE 7 3= T | (B) TR I MM 15 TR THME 21 37 64 |
(© S SEM 1 31 TRrE 7 e7Re TaH | (D) S M 15 R TR 21 T 'Ta9 |
81. =T WU W@ AR Sl &
(A) 1 3THRR G 7 SRR Th (B) 15 3T ¥ 21 TR Th
© 1S[AH75F TR (D) 1537 9215 T
81.  Wild Life Week is celebrated on :
(A)  18tOctober to 7! October B) 15t October to 215t October
(© 15t June to 7! June (D) 15t June to 215 June
82. CNG 3 > 71w (207 :
(A) U (FBCFT (5 (B) <CHARO (FBICEE (5l
(C) N (FBIEE (o (D) IR @BIEe g
82. Pr.ua.fe. (CN.G.) -7 59l 919 5 7
(A) A FIPIFICT 515157 (B) FCENT TGRS 5I5157
(© A ASIBIIE i3I (D) SRS BT 5157
82. CNG 1 &g &1 56 :
(A)  HEA TEAA (B) HHIK TERA TH
© I ERA T (D)« W FIEe {9
82. CNGHI T HE :
(A) Common National Gas (B) Compressed Natural Gas
(© Common Natural Gas (D)  Certified Natural Gas
82.  Fullform of CNGis:
(A) Common National Gas (B) Compressed Natural Gas
(© Common Natural Gas (D)  Certified Natural Gas
83. TIOGHRF 9oiA FeTo R THReits (A [ieae 4fS ey 2
(A or afn (B) S reIEICEs I
© asEIfn (D) 3AFEe IR
83. STHRIG- 9T AeiEd Feet ST Sotfaeits! i sacaa ffeae o e 2
A fIorafy (B) SIARTSIEIETE I
© «9EEIR (D) 3FTES I (IR rays)
MPT-19/P-1/H 58 EFsE
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83. fir Trzufq fas=a g0 wrma MREt 96 Aadan Rrem gaeam anfes ?
(A) TR (Beta-Ray) (B) Il W 'wie UaT (UV-Rays)
© T U (X-Rays) (D)  3TE.3R. U (IR-Rays)
83. TNE Y& (Green House Effect) ¥ Jeal T SURI 9T shiH-91 Tafehaor Jehel & ?
()  iter forai B) RIS foROl (STegrEmEicre fRvT)
© T feReul (D) %S frtoi
83.  Whattype of radiation is trapped on the earth’s surface by the green house effect ?
(A) Beta-rays (B) UVrays
©  X-rays (D) IRrays
84. I 2T WIS F IIT AT FIIA 27T ¢
A) et (B) IS WLMHIA
Q) TR RTIBIA D) foor=
84. ITAITH @NISIG 30T I FCT IISTIF AL FI 267
A)  AefiFs! (B) IR & MBI
Q) AT WA D) R
84.  STAIR FSa-SATCHRI T EHIACTATA ol SR Se —
(A) ARSI JAR STAEAE 9 | (B) AR STeEAICTIATEN HTET |
© T SR TSI ST | O) HE WA 9iEH |
84. T WIUIEI % SHATTA I &M 1 TEH HRIT S :
(A)  TRfE (B) ST IR
©  STE LT D) R
84. Main reason of continuous decreasing of wild life :
(A)  Predation (B)  Cutting down of forests
(©)  Destruction of habitat (D) Hunting
85. ‘(AU TITIIE © (T8I B R) B A
(A) BT Sfen orfes (B)  ICeTt AT ewiifss
© StTfes 3T AT doifes (D) o erofes
MPT-19/P-1/H 59 = P.T.O.

g
B



85. (AT GIDT (& (AT O &7 ) S AN

(A) Fe Sfew aoiifed (B) TP 21T o

© IR(ARSP BFg VBT AR (D) o oifog
85.  Red Data Book fefsTare &t -

(A) TS faw - ARHER ®) TS fSEfwR

©  EferEmE TR fSeriemr (D) A RHeSHE fSaRER
85. S TRl g% (Red Data Book) H AT T :

(A)  Fd g gt (B) & YIUft YITc

©  srefaes Hewa aren g (D) foro= gt
85.  Red Data Book contains data of :

(A) all plant species (B) all animal species

(©  economically important species (D) threatened species
86. b =fe PrEIfiey Wi MY =g & 2

(A) A ST (B) WU OTSIST

Q ©Nd Toiceret (D) RIS
86. QG e PRIMTTT Qv T =72+ &5.2

(A)  TB TS B) FA AT

© TN Sortelat D) RErses /A Tet
86.  Energy Pyramid ™ Wﬁ'@'&f@f IR SR T 2

(A ™ fegafi (B) TRME STer=

©)  TETEH SRR (D) TSI UTE™ QEgHI
86. TS Hell THNHES ol TaH HUL T -9 ?

(A)  TTHeR 3CUGH (Primary Producers)  (B) Wi ST (Primary Consumers)

© TiroT IR (Secondary Consumers) (D) 39 AT (Decomposers)
86.  The topmost portion of an ‘Energy Pyramid’ is of :

(A)  Primary producers (B)  Primary consumers

(©)  Secondary consumers (D)  Decomposers
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87.  ‘corursife WitH fors S ¢
(&) fr ®) @S Y YT
©  Frw IR e (D) st smahs
87. FrwAIfS a1 et TS (pedagogy) fF 49037 S74w1 2
(A) T (B) @ AV gwefer
©) B st (D) Bt omafs
87. URNTSH (Pedagogy) 31 A el TrfsoRl :
(A) St g B)  HEHME M fefermaf |
©)  HRIAE AR g (D)  HRIAH SAed-f-of |
87.  fen s (Pedagogy) foreht 2129 & 2
() T (B)  STHI Sl ANTEY HTAT
©  Ten redyoTed (D) Twen wgfa
87.  Pedagogy is the study of :
(A) education (B)  guiding students
(©)  teaching process (D) teaching method
88. I =SS @I 9% NN WoTS @I F PHF (ST 2
(A) ST IS B) 3IN
(C) TOrEsest siafs (Taungya system) (D).« PR I
88.  STIf I S STSINCAT SITCRA NI FY < [T 2
(A)  STINITSE P ®B) v
Q) DRSS Ml (Taungya System) O) IR
88. R WIR TR foreif Tsrre Ao STreew! g™ S -
(A) i Wi (B) A AER
© T Ety (D) TI'HE(E
88. Tfag Tk | ST T J&ii o o= B AT HiY HHc! Sl Hel S &
(A) WIS oTf-ehi (B) FHAFM
© BRI RFA (Taungya System) (D) W ElIRE
88.  Growing agricultural crops between rows of planted trees is known as :
(A)  Social forestry (B) Jhum
(© Taungyasystem (D)  Agroforestry
MPT-19/P-1/H 61 o P.T.O.
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89.  FAJIBIICTISN T T (207

(A) T (B) TG © Sfew D) SEIW
89. T AIFACIT T&H 1 2

(A) eI B)  Trgifer © Sw D) 3SEHIW
89. TRl GmfS SIftF=ll S @ STe —

(A) Gl ®) U 'feram © fowi-aEw (D) zEm
89.  feR % Telehvl & &I ¢ :

(&) e B Ui © sfes O) g
89.  Renewable source of energy is::

(A)  Coal (B)  Petroleum (©) Plants (D)  Uranium
90. TTRIT (FI519 RSP R ¢

(A) @3TEA’R (B) fSEm Ny

© i D) «FfFfes Wy
90.  TTF @ITSIF IT 007 :

(A) ST I*IT (Aedes Mosquito) (B) THSETS T (Culex Mosquito)

(© Wi (Housefly) (D) +SICATREERT 71T (Anopheles Mosquito)
90. T S AU 6 -

(A) TEfed 9 B) Tohsced O

© A aER (D) TA'fRfere ik
90. 7 AT H IARH T :

Q) TEN =T (B) A H={

© =R HE (D)  THAIRGS Fosl
90. Carrier of Dengue disease is :

(A)  Aedes Mosquito (B) CulexMosquito

(©  Housefly (D)  Anopheles Mosquito
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PART - IV : Language - II [ English (Compulsory) ]
TERIST e R T SIFI-1I (RIS ) -© Y2 30067 2 AT SN QB ST AT APHIIT I TS |

WA s QR ©fel SEl- 11 (ReFE) -To TifD 3015 2 Mitg ©3e U Sist 5iet PR S5 IO |

AT AT ;S areniEre e 11 (gt ) e 30 diFatt e i Sern i feArat g TR
|

wgragut ;. Heft wianfie % faw 39w H wrer-11 (3T ) o |t 30 weH Afard ¥

Important: This Partcontains 30 questions for Language -1I (English) and it is compulsory for all candidates.

(ENGLISH)

Direction (Q.No. 91 to 95) :

Read the following passage given below. There are five gaps in the passage which are numbered serially. Against
each numbered gap four alternatives are given below. Select the most appropriate alternative.

A passage used in 91) cloze test is a 92) of written material in (93) words have been

regularly removed. The students mustthen ~ (94)  toreconstructthe passage  (95) filling in the missing
words.

91. (A) the; B a © of; (D)  one

92. (A) paragraph; (B)  writeup; (©)  passage; (D)  description
93. (A it (B)  which; (@  this; (D) what

9. (A) look; (B) select; (@ ensure; D) ty

95. (A) while (B) when; © by (D) with

Direction (Q.No. 96 to 98) :

For the following items, match the correct alternative given against them as tag question.

96. Doaslsay.............
4) willyou? (B) shan’tyou? © won'tyou? (D) don'tyou?

97.  Some of us wanted to stay longer ............
(A) Didwe? (B) Didn'twe? (© Aren'twe? (D) Dowe?

98. Something must be doneforus..............

A)  willyou? (B) won'tyou? (©) shan’tyou? (D) wouldyou?

MPT-19/P-1/H 63 %f@@ P.T.O.
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Direction (Q.No.99to101):

Read the following items. In each item one word is underlined against which four alternatives are given. Choose
the most appropriate alternative which is opposite in meaning to the underlined word.

99. Human civilization discards many obsolete ideas as superstition.

(A)  Occassional (B)  up-to-date (© dominant (D) remote

100. Incourse of time we may exhaust many of our natural resources.

(A) Replenish (B) Increase (©)  Decrease (D) Renew

101. Conciseness of his expression surprised the audience.

(A) Terseness (B)  Felicity (©)  Precision (D) Renundancy

Direction (Q.No.102to104):

Complete the following questions by selecting the most appropriate word/words from the set of alternatives
given against each item :

102. According to Socrates education means creation of a sound mind in a sound body.
does Socrates mean by education ?
(A) = Who (B) What (©)  When (D) How

103. Iused to go thelibrary everyday.
do you go to the library ?
(A)  Why (B) How (© Howoften (D) When

104. Every child has four stages of development:
stages of development are there for every child ?
(A) Howlong (B) Howmany (© How often (D)  Which one

Direction (Q.No.105t0107) :

Each set of the following items has four (4) alternatives marked as (A), (B), (C) and (D). Choose the most suitable
alternative.

105. (A) We usually have breakfast at 8 O’clock in the morning but this week as we have to go to the yoga
class we are having itat 7 A.M.

(B) Weusually have to have breakfast at 8 O’clock in the morning but this week as we have to go to the
yoga class we haveitat7 A.M.

(©  Weusually had breakfast at 8 O’clock in the morning but this week as we went to the yoga class we

haveitat7 A.M.
(D)  Weusually have breakfast at 8 O’clock in the morning but this week as we will go to the yoga class
wehaveitat7 A M.
MPT-19/P-1/H 64 S
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106. (A)

For the last three months I am preparing for the exam.

(B)  For the last three months I have been preparing for the exam.
(©)  For the last three months I have prepared for the exam.
(D)  For the last three months I was preparing for the exam.
107. (A) Itis high time he will startearning.  (B)  Itis high time he started earning.
(© Itis high time he starts earning. (D) Itis high time he has started earning.

Direction (Q.No. 108 to 110) :

Read the following items. There are four alternatives given against the underlined words in the sentences. Choose
the most appropriate alternative for the underlined words.

108. Learning alanguage more refers to development of communicative skill than mastery over the content.

(A)

ability (B) efficiency (©  proficiency (D) fluency

109. Vocabulary teaching and testing begins from the first day in school and continues throughout one’s career.

(A)
©

formal education B) life

progress through life (D)  academic session

110. Teaching and testing should go together with neither being subservient to the other.

(A)

common (B) dominant (©)  subordinate (D)  useful

111. The main purpose of teaching a language is to :

@)
©

acquire elements of language. (B)  express one’s ideas.

develop communicative competence. (D) master its grammar and vocabulary.

112.  Which of the following statements is correct ?

(A)
(B)
©
(D)

Reading and writing must precede listening and speaking.
Speaking and reading must precede listening and writing.
Listening and speaking must precede reading and writing.

Speaking and writing must precede reading and listening.

Direction (Q.No. 113 to116) :

There are some gaps in each of the following items. Fill in the gaps with the correct alternative from the options
given as (A), (B), (C) and (D) against each item.

113. Human brain is the understood part of the body.
(A) alittle (B) less © least (D) most
MPT-19/P-1/H 65 = P.T.O.
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114. In 1922 Albert Einstein was awarded Nobel Prize.
A a (B) the © an (D) ome

115. Now a days children read only books as they are more involved with their mobiles.
A) few (B) thefew © alittle (D) afew

116. There is a knock at the door. Who can be calling us at this odd hours ?
A)  for (B) in © to (D) on

Direction (Q.No. 117 to 120) :

In the following items some parts of the sentences have been jumbled. You are required to rearrange these parts in
the proper order. Parts are labelled as P, Q, R, S. Choose the proper sequence.

117. Each problem child in the class / and should be treated differently /
() Q
is an individual entity / to help him to adjust with environment
(R) ©)
(A) ~ SRQP (B) PSQR (©— PRQS (D) PORS
118. = Good writing is an art / like any other art / through constant practice / which can be acquired
(P) Q (R) ©)
(A) RPQS (B) PQSR (@ PSRQ (D) PSQR
119. through incessant research / Science does / but it also destroys old fallacies /
©) ®) Q
not only discover new truths
(R)
(A) SQRP (B) PQSR (© PRQS (D) PSRQ
120. Itis wonder that migratory birds / without ever getting lost /
@) Q
always manage to find home / flying thousands of kilometers
(R) ©)
(A) PQRS (B) SPQR (© SQRP (D) PSQR
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PART - V : Language - I (Optional)

VTS 9 FPIT SINT-1-B SPINIT, I8Telt, CTt, ST, &, wiE, @i, afasifs sie S - AR

WIFIG ¢ U3 Sl ©IFI-1-9 SPTIRT, IS, J0of, ST, B, Wi, @i, wfosfy adg S - offsfo

ST AT S SR e -1 9 st s, 9, TR, o<, AR, Turet, Al ST we - SratE-Swn

UETEgUl: T YN % WTOT - I % fore fau e foeredt # srafian, simen, e, 7R, e, AR, Joreft, aforgd ud

Important: This Part contains 30 questions each in Language - I, for which the options are Assamese,

IR 30 OIS 2% 3MCr | 2T S #1@ o OMR $@1-91a9 ©fFl-1-© Srad 397
O AR Tag g ifaR |

ST 300 T 2% Sw | AT SEHT 2It@ @2 OMR Sed-91t@d eigl-1 (o Sad 47
oY ae3fera Sed e =R

A A 30 9ify a1 ISR fSAEEEn S 3T OMR R faemsf w&-1 aE
@ I afa e 2|

el — Foieh o1 | 30 T W& | glentefedi 7 emee-us 3R OMR STR-931 | wren -1 § forg oo
1 Seoid foran §, SHt o | ST e © )

Bengali, Bodo, Garo, Hindi, Hmar, Nepali, Manipuri and Karbi. Candidates should answer the
questions for only that Language-I option which they have given in their Application Form and
recorded in the OMR Answer-Sheet.

(ASSAMESE)

121. ©FF (HIFCOT S ARTIAT AT SN SFT S (207 7

@) SAgs B) SCW-FSEMT. (O TS (D) Q013 3T
122. A0l ©RTG (F30T SoieT NfHFT ST 2

(A) oT (B) Qbt Q@ I=2Csl (D) «aTI8 FIE
123. WEHACES ARG @RS oRITe Wil e’ I s 2

A) JTFB FFhe  (B) AW ESINT . (©) Paeld IBGl (D) SeormAr onE
124. EEIRG @HRY PP dfomde TAeET 5 27 A& ?

A)  corenfas ®) TeFisd © SIS (D) 87T AGIEHIO!
125. fAfafis @H0 8 dome Swisad 7

(A) RS ® o= © o ®
126. WO Fr$eg Sy 77 :

A) PG PR SNIF Abed] Siest Jia T |

B) ©Iff® ool Ja F7 |

© WooN FrFaT B0 (@FFE-379, FI9, 5107 HE oT3[7 wFel JASH F41 |

(D) WOORT NIIWI KRR I Fres 2Fe 347 |
127. afafis @@ ag-RifiE were 8 % ¢

NERELG] B) ifres © A (D) s
MPT-19/P-1/H 67 %f@@ P.T.O.

ol



128. 9 (PO fFTRBS ASIHT Snae 7
A) Il A9 ®) oM¥Ece =3 T (© w9 oAt D) BFo ol
129. ©OTF (PO AIF-ISFaT YoIF STeT BBIeor 4@ #M1fF 2
@A) ozm sRe B B I Qv D) IS
130. SR ©IFIF 24 FAifFfews famfq e -
0 R=ie ® TgwIE (O NS O IS
131. THIFTUT FIF FFIIT I fATHAAST ITHCATT S0 biw RSy HAFICGHN 07 e FfzeT ?
@) R fim sne Jifs (B) I9 TS F©
© ATy O) feT st T
132. ARG @0 & TR SrmEe 7
(A) TS +T=T% B) TE + T = AR
©  STe8IT + T = LR (D) «brs 957
133. NIOONRT R’e ST -
) SorerEt (B) 2 ol © o ot (D) «bre 957
134. AT RIS IS8T AT 5@ I {2 Gogroid $i5 ©FF #ize Soie Snpae i FEer frere 13
e - BI@-RIAIP @, AWF AFT SHIRIC, Yo AT TSHCeT i I <@ {ece
SSIRGIR 72T 1 93 FrsmE Safos 6 Jier @R =T 2
A) HERE M=l
(B) TIFI T&fs
© W@% = @S (Micicry Memorization Method)
(D) [AEY Tafs
135. ‘I-T’IAN’ T ‘AfSNrI I55 @FF 7
(A) RN @SREA! (B) I (sRfaeIeat
© TuPR HHRIeT! (D) e a3t
136. RS @ETT FQ doRT SRR ?
(A) TSt (B) LeTo! © eI (D) IrwAT
137. B HRACOT BF® 41 ¢ g@-wdld A Rl SR SR A5y{Rs I35 SR
) Fress @ Rmer IS s S
®) e sy @we o
© Pt Sfcwer IR Jeifeds S FA5ifFs 3SH0
(D) SV ST vl
138. *ISPARE ‘@I’ 4T i zwe Ifww ?
@) frarss ®) farss © ¥ysT D) PLuHtett
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139. SR @FIFCOT SAMIT Frecs Freg 19 wFe! SRe i e I Al S ME ?
A) 8 e (Nursery Rhymes) (B)  STIYPAT (Story Telling)
© wIHfs, Igel 3K D) 8FF
140. THEfIAS o201 a1 376 Tefes fbF [y Far |
A  o4q ®) o © O 8
141. TG oA :
A) 7 THIRY, TS, JF, JIerd, IFF R HF FIQ oA SJPIF 15F F47 |
®) Tfs, KT, (=n % e JYI7 T dfs JIY BFg T 07|
©) SRR ARSAIT st it 5T
(D) 87T Qb3 75|
142. IS @IF 98 WS ©GYeTd 647 2
(A) IO c¥e (B) TEII-4]T ol SCoiaT
O ToSH @3] D) S {20
143. SPIN ST ‘I P ATAT’T WSto SALFT AR 7
(A) SR ®) 3 © YEITE 35 D) b8 B7 737
144. RARS @0 SHTRT ST S G Kiqg SnRgd ?
@) 9 B © © =x O
145. J9Ned (@S 20O ‘noble numbers’ {%T e 2
(a) TNFB FFE  (B)  WEEI_GFSS ©Q Jifeam @y D) Seerwa o
146. ‘TAN 399 ATed SFe T [Fol AN - @2 ety 63 FlF 2
(A) TUPNE SR (B) WAV (ST
©) TR @SREt (D) TSHifeasm I
147. RSEA BT Wio- ‘FWNEFR ST W GIIOR SR g s8F - e SERG ‘FmaoT
O o1 (08 oW @FHOI BRE FAT F'F [oifReg 2
() el B ICT! © i o) foar
148. fafeifi® @9 fags Snmaer 7
A W B) W © S D) <«
149. ‘18I FOFT I6F 2
(A) TR @R (B) TbT (SR
© s cshifasaat (D) TEFPNEF TSI
150. TSI “N6F° (FIASH (74T BTN 7
A)  CN<e FHEF Bfera (B) Al TH
© SEEI BRI D) Bre"d 39321
MPT-19/P-1/H 69 = P.T.O.

g
B



(BENGALI)

121. SI68 @AG FITAAT SSFAEE FI 7

Q) T TS B) Tigfs © foar (D)  JAT
122. [P AR Fol F e

(A)  SIAWEA I (B) TarSTHee IR

© SrrERFeTE IS (D) MR IR
123, THIFIY @OREPNE AESTF ST BF T ABH 16 641 T | HHHd T 5 2

(A)  SiefF F15 (B) AT A1 © fafss (D) SEWe!
124, TSI TSEEE AN F(J STUART FEF 2

(A)  Svac (B)  Svvo Q)  Svba D)  Stdv
125. 45 3o @HIT 3&T ST 2

INIERE S B) fwerT © &wEm D), T2
126. SICb (@I IFHC 32964 [T I 7

(A) GFISETE  (B)  F Tiloiw © phearr D)  9INCHE 36
127. 519, O9d, 5%, I IS5IH 10 (o2 St e vy 7§45 o =7 2

A) o9 B 4 (@ EERRE) D) =RA
128. ‘(B 1YY I oI 1 2

NERGISIE] (B)  TSITTT (A W3F FAT

© OWHTE D) foEoRA
129. 7 STofi® @H 9710 @A SRR @ ?

@)  ESAS ® =Byl © Aot D) 5T T
130. TSI TS 3T S51R AW @ G870 FRTAM forrafegre otg 9w i 2

NI ICEE Rl (B) WA © e (D) TSIl 5
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131. RfafiE @R RIRe® ST (I AT ORE & 5 7
A) AT 4TS B) W AFS Q  WIerE SyrE e (D)  sirfer
132, PRI A 713 7475 ¥ 271 fafafis @ =it @7 Swrzad 72
OV IS B) O © frow O T
133. SI6d *=asfeT (A ey Fiferss =1 157 9 |
(A) T ®) s © W= (D) o
134. ©fFl-FrsceR o= spyfaetfS & 2
(A) omegfos epyfr (B) S TSP ST
©) SIS SRy (D) BTSSR SRR
135. 1T ©FIE Sruplet [H1ae 34
(A) WS (B) OISR © @ TSRt (D) B0t Tort
136. IIRET IMWETS FOIR &1 fofs @ g6 @ Mite ©ist 1 230 2
(A) TS ATen (B) ©RG AT Q) R[S siten (D) BI5S 2ten
137. WoORT STTAET 4RS! 5 7
(A) SO ST fod RIMIEIET S B) . IFrEiE Sl siieg Sy
© TS IAAGT FIF S (D) SRS WH S (7 S
138, *EHICAA Ao AQIa T 5 fizet 7
NEREELED (B) IS &I © e D) FTgFe!
139. WO RS &Fa FC0 AR :
(A SWTE g R (B) SN WA TR H
© SWNTE @i 8 47T TRe (D) S AP WFE
140. ARG wfaw FHG 797w ¢
NI (B) B © yIrm (D) SRR
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141. ©RT FRFR oFa T [REfG S6i3e SFg9d of {7

(A) oA (B) = © [ D) foraT
142. I SR RRMARG @1F BN 72077 S85(® 7

(A) - S ® ufs

© SIEF D) ITH-ISEAT IT o
143. g6 7R 49 @15 Swoifve W 537 o6 =3

(A) FFET (B) ©IAF © I IR (D) wKFT
144. TN WCo! @ QS5 SAf6 FAR Sf (FE GRTGS M | TR 67 @FIF ARG

TERMYE A ?

(A) SRR AR  (B) (SR et (©  ToRF SiCelT D) @ERE
145. TR @SRENF Profa 9w & et ¢

(A) SN @SR (B) oW @SRF

© SUMTeFT (@SR (D) R (TERE]
146. I N 1T SN FieT 267

(A)  Soo fUDIF (WF Soeo A (B)  Soo fDIH @F 300 AR

© Soto AT QA Stoo fABIH (D)  Sveo fRAITH (AT Savo fADHR
147. IR T §95 =

(A)  555C e (B)  SSRO ©  Sexa e (D) 553 T
148, TEF 0T IWR & A B ©IeTas I @B 2

A) F,4,9,9,% B b %LS,IA,® O 5,5,9,0,9 D) &,,7%,4,9
149. TSF < 5 AT % 2

@) b ®)

© WA I ASELAT (D) ITTAIST
150. JILeTF FFAAE SRTS: T @ te ow w1 7@ 2

@) 7 ®) f&f6 © ®a% D) S5
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(BODO)

121. f9eR TIRE! g9 STl-
(A) 1920 HIEATSHHE 1937 HZLEEH (B) 1930 HIZUTSHEE 1950 HIZTSHH
© 1921 HEABHEE 1939 HEAEEH (D) 1919 HEBATEMEE 1937 HEAEEH
122. ‘‘foeR’’ @mefaf Sfy SER 9y foame €91y =1 96 Gmsal TR -
(A) T AAE THE B) fo=r © Tom e (D) foeR @H ™
123. 1 @@ “The mother tongue is at once a tool, a source of joy and happiness and knowledge, a director of
taste and feeling” B G -
(A)  JohnDewey (B) Ryburn (©) Sturtevent (D)  Gestalt
124. SRS T SHATRIM S8 M SIHH SIE@! Hisl {1 S-egdl S
(A) ST EEE (B) STEMEHR ©  =EAA g (D) A TMeH
125. TS HEUEAE 91 i TS e TRy SRR o o gigEt e fefeerare 9 | el T
G WRIferre fef-ergaisa -
(A) 1956 B) 1952 © 1949 (D) 1959
126. foen W@ Gt difE@ml smem -
(A) T G AR TRer ST JRe BRARM] 8
(B) W TERA! SRR
© IS g’
D) (A) 3T (B)
127. ' SR TISTE @M e R SR S -
(A) e eI (B) SWESIYEERN () e Td (D) YA S
128. SR’ ARG pioneer B WG S SR -
(A) Hdiw TR agAdd (B) g MU agHAR Q) AUH et (D) U9 == qERM
129. R’ vEE T fefremn SreerereR fSem -
) fomeffamem @) 2 foumt = © (A B)HHA (D) TSI HAHE ST
MPT-19/P-1/H 73 = P.T.O.
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130. 1919 HEYAEAE SN 'R 95" G STHREATRE GRE -
(A) T TR (B) HYRH o= © G TS SgAIR (D) HENH S’

131. ' TITET WEAE ' EegEl OR e fardiae -
A) fafayso s (B) AT TR © E IS (D) AR

132. FSRH SETal USHH ATl YRA TR 96l HISAISard HIiH -
(A) 1988 (B) 1990 © 191 D) 1992

133. THS = SRl o R i -feet " W g fersmen g -
(A) 199 TEAEAE  (B) 1993 WRUEAE  (C) 1990 HEARAE (D) 1992 HRETEAE

134. foeR wefaf Jeenfen g sifcsen sian o emfaen ferfaeirraE! foer amsfaae Jeaiemm smEe
ST -
(A) T T SRS AR SR RRE! S T O
®) forfeel Afaft amem
© e SRR g
@) (A), (B) ¥V (C)

135. ‘' Sfa-fosfa’’ Ao FEEeE -
(A) B TMIIGHAR (B) G 9w SGHART (C)  SHE I gERR (D) Yo RIRIFIR

136, HIASITSI TS HieTs sEeaRIhRT e =
(A) S SSIERT ®B) TS GRE @ S<idHRE D) (A),(B) 3R (C)

137. HA =g STHAARIAT 98 TS SR YA SR SRR Hel WS -
(A) TEINYHEE  (B) YIAGYEEE  (C) FHEERALHEE (D) SGTE STYEHEE

138.  S1YT HERNT TeH! el HiTY -
(A) S ST ERAR (B) ST Y BRAFI
(© el Sify wReETEfeRn (D) TSI ST HRATATRN

139. o @ ST gemhEt MR Fe fern Ik wrem! -
(A) e SR it e g (B) A ARGl WS
© HIETE AR TS G-l S (D) TSI HEe 7T

140. 1926 AIZLEAE TR o1 Tfe e o RS’ Grers@l HeR™ St |6l ST THeiae -
A) 23 (B) 24 © 26 D) 25
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141.

TR 6 QY S8 ST SaTa dicl are fawgiae -
(A) THeH Hird B) o Sf Hiar afiom
© ' avefata (D) T FHBR SR T

142.

o Trame TR oe W9 snYTEn e geA AT -
() TR, TG, TIREAR s s g @) Ta@! 19 Wi

© TR A Edl SR (D) BRI TR
143. ‘' dmemeRn qEfen’’ S Terf 99 ke SRl s J6re SR S -

(&) T ® fre © e O @
144. UM HERRIM SIFM STHR MHET STerd -

@A)  gferi B) e © R O TR
145. TR 6 HAY WS STemEan ARG Hex T WA SR gl R 7eg -

(A)  ETHE TSI B) ®'HAA © Tl W (O) AR

146.

' are HiEl gFE U Afe S 9 feriem siEm -
(A) TS (B) TEH Q) g D) TS

147.

UM HEERIM TUEHRE! “romantic ideals unparallel in theme and attitude” B ER gfred

ECLIR
(A)  TISH ARRI (B) AN @ HEE R (D)  SSIs FHR &

148.

EPIEICIERIE TSI

(A)  FHS, IR ST ST s sEiwE
(B) TSI WA BT

© et e deeE

(D) el 3Tiferat wREm

149.

e o8 BHY @i famferan R SFmft Iem o s snfed wifd gremstfe TRi fa s geeme s
Tt FER g -

(A) o B @ © = O) <
150. 9HE =% S T3 RSN ST@rEiqH -
(A) ARG T R 1o o ®) foer wEfaams
(C) TR AR (D) R R e
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(GARO)

121. Sing-anirangoniko mingsa ke-gipa kattako seoke anan chakbo.
Howard Denison W. Momin ia bilsio Turao atchiaha.
A) 1989 B) 1907 € 1913 O 1918

122. Mingsa ong-a katta ko ra-e sing-anina aganchakbo.
1960 bilsini daligipa tombimonga-ni Bakrapur mondolio sawa Reverend songako man-aha.
(A) Rev.Rodonath D. Momin (B) Rev.KarbenD.Sangma
(C)  Rev. Gilberth K. Marak (D) Rev.Thangkan K. Sangma

123. Iarangoni mingsa ke-gipa kattako basee sing.anina aganchakbo.
A. Chikrang badia jatrangoni dolsa ong-achim.
A)  Asiatic B) Indo-Tibetan () Mauryan (D) Mongolian

124. Ka-mao on-sogiminrangoni ming-sa ke-gipa kattako basee sing-anina aganchakbo.
‘The Garo Jungle Book’, ia ki-tapko seaha.
A) Rev.Willam Carey (B) Rev.E.G. Philips
() Howard W. Momin (D)  Rev. Gilberth K. Marak

125. Ka-mao on-sogimin sing-anirangoni mingsa ke-gipa kattako seoke aganchakbo.
Nasimang ia kattako aganbewalo senaba agana-gita mai chinko on-a nanga ?

@ . ® @ - O 7

126. Ka-'mao on-sogimin sentence rangonike:Gri gender sentence ko basee-aganchakbo.
(A) Angasaksame-abi-saong
B) Uasaksa nitobegipa me-chik bi-sa onga
(C) Dorbok rang bakrao cha-amenga
(D) Me ‘Cha-ani kuturio nitogipa choki-toble rang donga.

127. Ka-mao sing-anirangoni mingsa ong-gipa kattako seoke aganchakbo.
Badia ku-uko ma-ani k-u-u ineminga ?
(A)  A-chik mande Americao atchie English ku-sik.
B)  Chinao A-chik mandeuno songdonge Chinise ku-sik.
(C) Japano A-chik mandeuno songdonge Japanese ku-sik.
(D) Je a-songoba dongbo A-chikrangni maini ku-u A-chik ku-sik.

128. Ka-'mao on-sogimin kattarangoni badia ke-gipa gam-dringipa katta ong-a ?

(A)  Bil + ak + bat + srang + gip + a B) Bilak + bat + srang + gipa
(C) Bilak + bat + srang + gi + pa (D) Bil + akbat + srang gipa
MPT-19/P-1/H 76 b
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129. Ka'mao on-sogiminrangoniko ong-gipa mingsako ra-e sing-anina aganchakbo.

Ginigipa Dal-gipa Dakgrikanio Sauea Civil Peoneer Force-ni Lieutenantni Kamona doatako

man-aha ?
(A) Togan N. Sangma B) Janggin A. Sangma
(C) KarneshR. Marak (D) dJobangD. Marak

130. On-sogimin kattarangoni mingsa ke-gipa kattako seoke sing-anina aganchakbo.
A-Chikrangoni skanggipa Greek Ku-sikko skie ra-chenggipa.
A) Howard Denison W. Momin B) Thangkan K. Sangma
(C)  Rev. Gilberth K. Marak (D) Rev.Ramke.W. Momin

131. Ka-'mao sing-anirangoniko mingsa ke-gipa kattako basee ra-e aganchakbo.
“Ang’ Gisik Ku-rang” ia ki-tapko sauea seaha.
@A) Kosan G. Momin B) KarneshR.Marak
(C) Monensing R. Sangma (D) Rev. Gilberth K. Marak

132. Mongsonggipa Alphabetrang badita ming donga ? On-sogimin sing anirangoni ke-gipako seoke
aganchakbo.

A)  22ming B) 24 ming (C) 26 ming D) 28 ming

133. Iarangonibadia ma-rapipa kattajikse ong-a ?
‘A-bri’ 1a kattana ma-rapgipa kattako seoke aganchakbo.
@A) A-chu B) A-kong (@ Akawe D)  A-kimbri

134. Sing-anina sronggipa sentence-ko seoke aganchakbo.

Sentence-o mingsa aganani bakni kam ka-aniko parakataniko ‘T ine minga.
A) Noun (B) Pronoun (C) Verb D) Adjective

135. Sing-anirangoniko mingsa ke-gipa kattako basee aganchakbo.
Rev. Ramke Isolna ring-mitelani gitrangko seaha.
A) 21 ming B) 24 ming (C©) 27 ming D) 30ming

136. On-sogimin sing anirangoni mingsa ke-gipa kattako ra-e aganchakbo.

Poraiachi ku-uko skie ra-ani badita bakrang dong-a ?

(A)  Minggni bakrang B) Minggittam bakrang
(C)  Mingbribakrang (D) Mingbong bakrang
MPT-19/P-1/H 77 E‘ P.T.O.
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137. Ka'mao on-sogimain number-rangoni badia ke-e jakkalgipa sentenceni number ong-a
(A) Bi-sajima an-tangtangni ba-rarangko am-tokenga.
(B) Bi-sarang an-tang langni ba-rarangko am-tokenga.
(C) Plak bi-sarang an-tang tongni ba-rarangko am-tokenga.

(D) Bi-sa gimikan an-tangtangni ba-rarangko am-tokenga.

138. Sing-anina ong-a kattako ra-e aganchakbo.
‘Chadambe’, ian maiong-a ?
(A)  Bi-sanidal-bamitingni sal B Kitap
(C)  Poedo (D) Magazine

139. Ka-'mao on-sogiminrangoni mingsa ong-ako basee sing-anina aganchakbo.
Badia aganani bakrangoni mingsa bakko ra-e ‘Number’ ba ‘Numberang’ ko bikotna jakkala ?

A) Noun B) Pronoun (C) Verb D) Adverb

140. Sing anirangoniko mingsa ong-ako basee anganchakbo.
Badia minggni consonantrangko vowel dake jakkatna man-a ?
A  EaroQ B) MaroN (C HaroZ D) WaroY

141. Ka-'mao on-sogimin sentence-rangoni badia batianggimin kamko mesokgipa ‘Tense’ ong-a
(A) Rambang antichina re-a
(B) Rambang antichina re-angna tarienga
(C) Rambang antichine re-angnahakon

(D) Rambang antichire-angaha

142. Sing-anina ong-ako basee aganchakbo.
Lindrid D. Shirani mingnamgipa, ia Ki-tapon bang-a poedo-Segiparangko.
Chimonge Kingsako tarigiminkitapa.
(A)  A-chik Poraiani ki-tapa (B) Bi-sarangna kan-dikgipa golporang
(C)  A-chik A-songona Nama Kattani (D) Gisik Matgrikrang

143. Ka'mao on-sogimin sing-anirangoni mingsa ong-gipa kattako basee aganchakbo.

‘Poedo’ ian ku-uko shiera-ani bakrangoni mingsa ong-a

(A)  Knatimachi skie ra-ani (B) Aganachi skie ra-ani
(C)  Poraichi skie ra-ani (D) Seachi skie ra-ani
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144. Ka'mao on-sogimin agan me-ap kattarangko ‘Bimchipe kam ka-ani’, ia kattarangni miksong anina
jakkala.
A)  Korek bal bal, Korek dim-dim B) A'min, jakmin
(C) Rongsik, rongdoka (D) Tobaria, mindinia
145. Ka'mao on-sogimin kattarangoni ke-gipa ming-sako ra-e sing-anina aganchakbo. Keneth Momin
Administative Allied Serviceni kamko ka-ahama ?
@A) Ka-aha B) Kajaha
(C) Kanareangjaha (D) Kamareangengachom
146. Sing-anirangna on-sogiminrangoniko ke-ako basee aganchakbo.
Chingchetgipa asikirang aro chasongna salba dakgipa rugipako Isol ko mai ine miteta ?
(A) Jehovanama B) Christonama
(C)  Abraham Isolonama (D) Isolnama
147. Sing-anina ke-gipa kattako basee aganchakbo.
‘Jhonny, Jhonny, iachire- babo aro angni sambao asongbo’ sako ia bimungchi minge okamaha.
(A)  Rev. Gilberth ko B)  Rev. E.G. Philips ko
(C) © Rev.Ramke ko D) Rev.Thangkan ko
148. Sing anirangoni mingsa ke-gipa kattako seoke aganchakbo.
English ba gipin ku-uko seanirango spelling rango gualani ortoara mai ?
(A)  Gipin ku-uko name skie ra-janigimin
B)  Gipin ku-uko grammer ko name ma-singoni gimin
(C) Gipinku-uong-ani gimin
(D) Ku-tangong-gijani gimin
149. Ka'mao on-sogiminrangoni badia ong-a mingsako basee sing-anina aganchakbo.
Sauea ‘Man-rikani, Poedoko seaha
A) Howard Denison W. Momin B) KarneshR. Marak
(C)  SurendraS. Marak (D) Koplane G. Momin
150. On-sogiminrangoni mingsako basee sing-anina aganchakbo.
Sea jotani bidingo sako gnigipa Howard Denison Momin ine mingna kra-achim ?
(A) Lindrid D. Shira B) Rev. Gilberth K. Marak
(© Keneth M. Momin (D) GonmoniD. Shira
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(HINDI)

121. f&=<t 9o =t sfe ST

(A) e (B) T © U D) HERd
122. Tt =t v siferi & :

(A) S T IR STaEt (B) USSR AT

© (A)R(®) (D) ST Th ot 7
123. §E A | W@ &1 7= ®9 § wan fem g2

(A)  9EH (B) Wd © O) =
124. Trefafea & 4 foe= =i fafa & -

&) 7w (B) <K © D) oTEF
125. TTH 9 hiH-HI 6 Tod aga=d H & a1 § 2

@) =M B © . wWa (D) TR
126. ‘Tiel &d ¥ R’ i 91 R § ?

A) HH (B) STURH Q@ (D) Al
127. * 3TSIH GSTH, T e’ SAThITeR T ST € ¢

(A) @ AR I HE gEl W ® (B) FSH Y R @A AT

(© ST T == R (D) g ¥ g
128. T=fafEd & s A1 30T TR foRaT T ISR & & 2

(A) SHH R g € (B) % 31Ul FeR Gt &

© STt SR ® (D) o8 a1 @&
129. hlIX o 7% I TH &7 A1 ?

(A)  TEESEE (B) HdIHMS © =™ D) A=<
130. &<t vron & shferdi =) G € -

@A) 15 B) 25 © 18 D) 22
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131.

<t & JQ T-HIHN :

A) = A ®) e R © degarEmER (D) oRE
132. ‘T TS T TR ©

(A) TR BT (B) Hae™ @ (C)  Eeg (D)  3Tfogams T
133. ‘Hirer feAfemar &' % o fopan &2

A)  IRonde (B) W (@R CEIRED (D) 76 9 & T8
134. T3eTor St 1 Sy fopan ST ®

(A) e SR (B)  hall & STeR © (A)3R®B) (D) =T | *E T
135. ‘R’ HeThed T

(A) ST TR (B)  TEIQel Sl

©  geia et fret (D) THTS Yo
136. To7eh S=RU H <6 TR ot 31feres TH3 a1 €, o el ®

(&) AR (B) T WR © HIWER (D) SN
137. e foreror =t fafy &

(A) AR fafy B) WA e faf

(©) T JARTSIEA (D) ST g+t
138. ‘TEEfRaAR’ fHdet e ?

(A)  TEH (B) qode™ © wR D) T
139. TcTehi ol foraT-faE™ 9 Ted I8 STeav ®

(A) e fgEr (B) WG @l fa@m

© i T SR e R (D) 3! FoRamsiiel sam
140. frfafEa HF @ dfe 1gs § 2

(A)  TE Hiar FHeR T faed T (B) T HRIT

©) %H I A foman (D) AT A I U¢ Ih! ©
MPT-19/P-1/H 81 o P.T.O.

g
B



141, SR GHRA 1 D b el § A1 AMMET ?

(A) IR (B) TR © SR (D) A FES A
142. HEER 99E fgadt 7 gradt’ ufAsht 1 Gred T el Qe ?

(A) 1900 &. (B) 1901 %. © 1902 % (D) 1903 .
143. &<t 91 § -t eafar € S s 9 W siel a1 Tt S €2

(A) X (B) =S © T (D) &
144. ‘99’ 1 TEELT ®

@A) =T ®) B © D) T
145. gordt od God BT Y HE A E?

(A)  THA TS B) e () HfgamEet (D) <REet
146. ‘e’ fopment ey 2

(A) 3T T g ®) T=r g yEE gt

(© oY TelE T (D) __foenferg fas
147. sl AfeqerTel o fehd &R o hia & ?

(A)  Fomsh (B) T © R (D) I
148. T&=<t # S=RU & MR W feohey a70f B0 € 2

A) 33 B) 40 © 25 D) 45
149. ‘TeA’ ST foRds 2

INEREEER B) = © mER (D) SR g
150. 31, 371 1 SN0 TS © :

(&) U3 ® @G © i D) <
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(HMAR)

121. ‘Sampui’ ti umzie chu :

(A) Stm phai B) Suolna (C) Boruokthanaw (D) Inthim mup
122. Isu rawngbawl tanna ram kha :

(A) Nazareth B) Galili (C) Kapernaum (D) Gerasin
123. lungzirhai :

(A) Ruoltha hai (B) Far le zuor hai

(C) Ngainat um hai (D) Mithi suongkuo hai
124. ‘Rangka’ ti umzie chu :

(A) Rangva (B) I‘uonrang (C) Rangkachak (D) I‘awng in rang
125. Hmar tawnga vowel iengzam a uma ?

A) 6 B) 10 (C) 11 D) 9
126. Andiknaw tak thlangsuok rawh :

(A) Hrietpuitunu (B)  Uirenu (C) Sukbo tu (D) Tirdakum
127. Andik tak thlangsuok rawh :

(A) Thlikhawnvar (B) Thli khawnvar (C) Thlikhawn var (D) Thli khawn var
128. Tlangram inhawina san a thangve lo thlangsuok rawh :

(A) A boruok in nem (B) A thlifim hrang del del

(C) Infepawna a tha leiin (D) Vate chi hrang hrang in hram
129. Turni ti chu :

(A) Rinum (B) Nisa (C) Rimsie (D) Harsa
130. Khawveél a ngaituo leiin’ ti hla phuok tu chu :

(A) Thangngur (B) Thangler (C) V.T.Kappu (D)  Pautinkhup
MPT-19/P-1/H 83 E‘ P.T.O.

g
B



131. Andik tak thlangsuok rawh :
(A) Khawthlangin kan tlang a nih (B) Khawtlangin kan thlang a nih
(C) Khaw tlangin kan thlang a nih (D) Khaw thlangin kan tlang a nih

132. Andik tak thlangsuok rawh :
(A) Lala chun, “in bu hmin a tha,” Sanga kuomabh a tih.
(B) Lala chun, in bu hmin a tha, Sanga kuomah a tih.
(C) Lala chun, “Inbu hmin a tha,” Sanga kuomah a tih.

(D) Lala chun, “In bu hmin a tha,” Sanga kuomabh a tih.

133. Hla thu a ‘in’ tina hi iem ana ?
(A) Zarva (B) Ran (C) Lungzar (D) Piellei

134. “Dite ka ngai ém che” ti hla a a phuoktu pa in a ena a hlimpui kha iem ana ?
(A) Thlalak (B) Lekhathawn
(C) An khawlai lengna hmun (D) A sunghai

135. Andik tak thlangsuok rawh :
(A) ~ A hmélhriet ka tum a nih (B)© A hmél hriet ka tum a nih
(C) A hmél hriet ka tum anih (D) A hmeélhriet ka tum anih

136. A lungril thunun theitu chu :
(A) Mivar a nih (B) Mi fel a nih
(C) Mi tluongtak a nih (D) Khawpui latu nekin a tha lem

137. Andiknaw tak thlangsuok rawh :
(A) Duoiduoi (B) Suou suou (C) Seiu seiu (D)  Chiei

138. Laira ti umzie chu :
(A)  Unau (B) Nau (C) Naute (D) Insungkhat

139. Andik tak thlangsuok rawh :
(A) M1 per fu pal i tih (B) M1 per fak pal i tih
(C) Mi per fung pal i tih (D) M1 perfu palitih

140. Hmar tawnga hawrawp iengzam a uma ?
(A) 25 B) 26 ) 24 D) 30

40|
20|
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141. Isu thilmak thaw hmasatak kha iem ana ?
(A) Nuhmei thiput sukdam (B) Mipui sanga vai
(C) Tui uoiin an changtir (D) Lazar a kei tho

142. ‘Dawn’ ti umzie chu :
(A) Tui dawn (B)  Thil indawn
(C) Ngaituo (D) Lungrila vawngzing

143. Andik tak thlangsuok rawh :
(A) Lamsak tieng lawn rawh (B) Lamsak tieng kai rawh
(C) Lamsak tieng fe rawh (D) Lamsak tieng lui rawh

144. Zin ngai umzie chu :
(A) Ngaizawng hai ngai (B) In ngaisie

(C) Lungngai (D) Lungna

145. ‘Suol indona a van Lalnau chu’ ti hla phuok tu chu :
(A) Thangler (B) Lienrum (C) Thangngur (D)  V.T.Kappu

146. Sura buen :
(A) A mawi dan zawng taka en (B) Inhnar taka en

(C) Chapo taka en (D) Ajmawina hmu lova en

147. Isu’n mipui sanga a vai lai khan naupangte khan :
(A) Beiphek 2 le nga S a nei (B). ~Nga 2 lepeiphek 5 a nei
(C) Nga 3 le beiphek 4 a nei (D) Beiphek 3 le nga 4 a nei

148. Thlapa a var hin :
(A) Arasi hai varna an tawmpui (B) Nisa varna an tawmpui

(C) Hnuoi varna an tawmpui (D) Ama a varna nei a nih

149. Andik tak thlangsuok rawh :
(A) kawtkhar va khar rawh (B) kawt khar va khar rawh
(C) kawt khar vakhar rawh (D) kawtkhar vakhar rawh

150. A ziek dan indik tak thlang rawh :

(A) Ranbupékna thleng (B) Ranbu pekna thleng
(C) Ran bu pekna thleng (D) Ranbupek na thleng
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(NEPALI)

121. TR0 Tkl YTGTHT UEUsh! qrodst o1, 9. shfcen &1 ?

(A fad. 1303 ®) fad. 1306 © fad. 1307 (D) Tfad. 1312
122. Hfo=R & &I EH ?

(A) YR S (B) weHTHRE TR

©  Termfon e drgar (D) BRYeK shgarcd
123. ‘Tl BT Wenfeu 1! Iel 1 HReheh! TN IR B ?

(A) HHIREH (B) HIHNH © HHSH HRH (D) =& Rk
124. SR SR TR 6 T :

(@) T (B) TSI © g (D) el BT
125. Tel HifeeH Helehid i &l ?

(a) e (B) T eHUEIRTTHRE (C) ENIURAA (D) Y T
126. TN &R qfe TUTel WUSHTA FHA T ?

@A) g ® T (@  emn A (D)  HTHeA
127. e F2TH WA g Ieals o 9= ?

A) = ®) e © fasmm (D) FoH
128. T ¥eRTehl Sfter At afgetl shfgel wifawent for ?

(A) fad. 1925 B) Tfa.d. 1948 © fad 1972 (D) Tfa.d. 1990
129. HZIAH 9! :

(A) FIEE[ ® fFEa © TR ©) favmod
130. ISITeR! ST el et for 2

(o) fafemmm B) SIfSifaeH ©  TEREM (D)  HISHUZH
MPT-19/P-1/H 86

%‘iﬁ@
Lk



131.  TIReh! AT SifS Weqiw o & ?
(A) FH ®) faufw © T (D) Sui

132. A &1 Y@ fafa el sreer g 2

(A) & B) IO ©  hreEHl (D) M
133. HfOERF 2 ?
(A) ®) T © ST (D) WIEHA

134. HEHA TR AT AT I T 2
(a) PR (B)  @mTHEE © o (D) e

135. IS 9 HHE Bl ?
A) W= (B) gsifE © g (D) HHURE

136. AfeRenl AT A & 2
(A) TR ®) fr= @ T D) T

137. SH  heqH o B SO GRERAT U5 2
(A) T AT (B) sl © s D) i wEeR

138. TSl T <kl FedmaT S=aRor g 9o
() TSeame gt (B) T<HET © ToHe auf (D) STl &

139. T v oo FUIh] ST TUTCHT Eo 2

@) o ® 4 © = ©) A

140. T TThT WTRATTeR TSR0 THfeT I S St fag et Seora e ?
(A)  rgHE (B) GE&d © et (D) Tl
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141. U STRIheh] THAR ThAaTs F Thd 9+ ?
(A) e AT B) wHREWET Q) wfvwEiwed ©) AW

142. ‘‘91eTe WA THAT $A TRARI TART YT S ?
(A) Terfawfra  B)  wwEIyen R © omwfRIfEnr (D) e TR

143. O ST Shidaer auf B ?

(A) 4T (B) 39T © 46T (D) 49T

144. TE FE @ 2?2

(A) e (B)  YRaH © eI (D) aH
145. SIS I :

(A) TEhASRE STH] T (B) TG TSTeR! ST I8

(C) T s (D) facam g

146. T VeaH] STLHT SITSUeh] S ?
(A) §TH B) &R @ HeHd ©) fosm

147. food 199 R 18R &
@ = B = © T O 3

148. STHIVMI hl, H1, i T, T, T ZTER g1 HRFETE b 95 ?
(A) FHHFR® (B) HUHRH © U FHRH (D) wIEH HRE

149. o TR F=Tq favfamesen! @M 9 ?
NI (B) o © ToRmo (D) A

150. ‘T TR <9 R’ Al ATHTH! F HIT 8 2
(A) TR (B) @A © afu (D) TS @A H
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(MANIPURI)

121, oSt QAL AT Sronpifit -
(A)  TIFHA B) TFoweiezss (O YRIFMESI (D) SFIN N
122, XS SREILIETEN 47D TAZIT CIE LT SR #g51fs -
A) 5 fear (B) I AT © ¥ ofar (D)  CoT AT
123. ATST QR -
(A)  BeFIMAT AL AFHATT
(B)  SIZJAT Q3T CeTagwalt Blagent AL AgwAf
© B Tearet SHmsl Tret Smt 58T G371 qe g ARIFHA
(D) NI TS SHFTA
124. TS LFIeT [BEHT TS g Aafir -
A 3TEYH B) STHT © TAIZ (D) IHT©
125. YTl HOS(St (T (FGEN Q% ISR 83T Nex WL B7T (R -
(A 30T 55 Wi | (B) BT S>CA WA
©) 30T 55 Wi | (D) ZRCTF S5ALTIA |
126. SN BN S~ -
(A) @ SI3YCTIMN | (B) TP S AT SN |
© IR @Y ST | (D) AR NS prz |
127, St/ Ss 3T BRIBMI Wiors[ST SRR TR (AT MSHRIT 7o el erafe -
(A)  JieeT B 37 © SnRat (D) IS
128. ToTIH SINT OFT SR SF KA Y1EWSN 06 33JT @AM -
(A)  ©Iear (B) 3ar © o (D) “ar
129. (TRTEMIL BFY IAAT AT 7 JRIHT -
A)  ATSTTeH (B) vl AR © AT (D) oS
130. T 98 *FAREAT QIFRT 45 -
(A)  @BI LA (B) 79 I:I 4= © e = (D) NS NS A3
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131.  SIpET #RSTA™ -
(&) CTAS Tof QUeYAT N T ST AMSTFS |
(B) AT I T FAAT B (OT51f |
(€  Brewr et Sueta, oandr @4fT, Fes |
(D) (A) FR@SIT (B) SAINE 33T J1Z |

132. THCOCET SR -
(A) NEF (@ ERIFAN (TR | (B) TFA I (& TN |
Q) HZJT @3 (TaAT ISR | (D) TIE AT ACS |

133.  “‘pler’’ R ACEPM™I -
(A) FT NS ST ANSE | (B) FT NEF 4T a3 |
© ¥ VES SN [33 | (D) ¥ NI Wi [GT |

134. IS ST Yrmi -
@a - B) F+ © F+I+H (D) WIS TS ife

135. TR BT NoNal aicas STiRest -
(A) UTET TR (B) W FET © R (D) AT gl

136, “PIC Ty’ & 34T -
(A) SFTIN TH@ed  (B)  ST8IeRE ©Q [EES! (D) eI

137. SISV NH@e-T 33T oraefvn -
(A)  CATCSET ST | ®) s e © THI IS (D) ETIeAAT |

138. wfors(t Tifxemt @GS F st 2ea1f -
(A) YA BRI | B) fZowW srgrezegH|
© SN TH@eag | (D) TIe I |

139. ‘Nfors{Ft I5IFaT GFghl’ 37 -
(A) Rrowfer (AT (B) AR T Q) TSI AR (D) TeTe TR

140. TeTIHCY WS -
(A) TV (B) IRWHBZ © §RN3 (D) [er B3
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141.  FOW S5 MRS GF IO 1T F8IT SRS -

) 7 HEufse @l (B) A IFILST

© SIS T | (D) 7 @3
142, Fo SYe FAT 5@ 16TINT Y fh -

A) TP (B) 3RT © 39 (D) FIIEH
143. YI3FIF2M BIGIAT 33T @fexfSs Sy -

A) S (B) @A © WSt (D) TSl
144. A 78 7EICRAT 3787 9= -

(A) W AT (B) FIEF (I © @@t (D) WE TS S|
145. ‘wifSfere etenl’ T AFWEINT w33 -

(A) RN AWE B) 99 @ RETET (© 0 W RIS (SR (D) SIEEN LSt GWsiar
146. IfIT TSI NSt @HNT ST AL SRS -

(A)  SIREIT A (B)  TATTSIT T (AN

©) TIEarSIF YRIAAT (D)  ARGRILTANG FFTeT FI]T
147. SIHAT ASMST 115 SIFS -

(A)  TE +5€T =W (B) AT+ = ALHA

© T+ @ = (@A (D) S +%eT =9
148. CHCOETISN T NS |

A 8l B) ¢ M © v D) a4
149. o @o=T 331 AW -

(A)  SEAT Y (B) RFse gEwr © ¥ (O IR GITEERI
150. TS T2 -

A) I (B) =Wl © D) [
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(KARBI)

121. Oso kebai alun, osomar kijui alun, Oso kepakan alun heihui kethan Ke Kepangcho aphan.
A)  Karjulong B) KeTokThek (C)  Kaporhithek (D) Kacharli Thek
122. Isi Angdeng along ‘Lamchili’ pu akitap keron poncheng komantu aningkan lo ?
A 1998 B 1999 (C) 2003 D) 2008
123. Thang Thang 28 arni Ketalon ver ke .
A) Mahatma Ghandhi kithi arni (B) Semsonsing Engti kithi arni
(C) Khorsing Terang kithi arni (D) Sangkardev kithi arni
124. ‘Nang pinap Diphu damjima ? ‘Laso alamjir along Menlar kolo abanglo ?
(A) Nang B) Pinap (C) Diphu (D) Damjima
125. Amek langding pen kepatok helo osomar aphan kepangcho asai lo.
A) Karjulong B) Ketok (C) Kaporhe D) Kacharli
126. “Langbi Chitim achek aphang
Vocherok atar ati epum
Langbi chitim achek aphang
Vocherok atar ati pumni
Bangso ahirjir Ketok abang :
A)  Dhoneswar Engti B) Bamonpo
(C) Bidonsing Kro (D) GandhiTokbi
127. “Longki Ke atumi Rong damjui” laso alamjir Ke :
A) Nonahut B) Chuahut (C) Mo ahut D) Kaike ahut
128. Komat alammetpo abangsi TAMHIDI pu akitap Ketoklo ?
(A) BasaKathar B) Longkam Teron (C) BonglongTerang (D) Barelong Terang
129. Lunjir along ‘Durmi’ puke aphan.
A) Lang B) Hem (C) Longle D) Tovar
130. Kolo abangsi Kechokvek alamthelo ?
@A) dam vangret B) dam aret (C) damvaret D) dam vangdet
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131. Lamtasam atengpen Men sonkoando?

(A)  Sonpho B)  Sonphli (C)  Sonthrok D) Sonkep
132. Amri aso aphan ta pu.

A)  Solangdo B) LeLangdo (C) Ar.Langdo (D) Mirlong
133. “Ingnar Vangtanglo Hemtap” puke.

A) Keklem un’e aphan B) Ketongun’'e aphan

(C) Kanglen aphan (D) Keprap aphan
134. “Lahelo netum arong

Kelang abolon dokon

Kove bithi Partubong

Arenren tharve Pendangphong”

“Netum Arong” laso ahirjir Ketok abang Ke :

A)  Gandhi Tokbi B) RuplanEngtepi (C) AnimaTerangpi (D) Bamonpo
135. Lametpo Bonglong Terang Komantusi pirthe kehache 1o ?

@A) 1906 @) 1909 (C) 1917 O) 1919
136. Koloso akitap abangsi Bonglong Terang Ketok lo ?

A) Tamhidi B) Tomopuru (@  Ronglin D) Ruve
137. Lang a-ok aphan Lanbarim along ke pusi kipu.

A)  Choran (B) Dokha (©) Loti (D)  Jirhu
138. Apok do aphek ave, angho do ade ave, puke kopilo ?

(A) Hile B) Phule (C) Tibuk D) Kasu
139. Ser Hongthom Alongri along kachingbar dunde ke kolo abanglo ?

@A)  Chinthong (B) Ronghang © Amni (D) Lambajong
140. “Manai Ke Kanthekser” Ladak “KanThekser” alamthe ke :

(A)  Menklar B) Menlar (C) Saiklar (D) Saiklem
141. ApiLuvok, aso ke reset, kopelo ?

@A) Kove B) Birik (C)  Baptheli (D) Hele
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142. Lunjir along Jaidi puke Kopi aphansi Kipu ?

A) Hem aphan (B) Ritaphan (C) Tovar aphan (D) Longle aphan
143. Karbi Language Development Board (KLDB) Komontusi Kesenglo ?

A 2009 B) 2007 (©) 2010 D) 2006
144. “Asoanridam, apo an chonghong” Kopilo ?

(A) Hele B) Bapthili (C) Birik (D) Phule
145. “Chinine Hemphu Komat lo nangli

Kodak chepatuma
La-an Kanghon la-an kajinso
Nang ne kalana”

Bangso ahirjir ketok abang komat lo ?

(A) SamsingHanse (B) Bonglong Terang (C) Longkam Teron (D) Bidorsing Rongpi
146. Karbiakhei along man-peng kipi ‘Ser’ avan Ke Kolo abanglo ?

(A)  Habe (B) Burotemen (C) Barika (D)  Pherangke
147. ‘KARBI ALAMJIR’ pu akitap Komatsi Ketoklo ?

(A) Longkam Teron (B) Bonglong Terang (C) BasaKathar (D) Samsing Hanse
148. Hirjir Kihir Kethan ke Osomar aphan kepangcho aphan.

A) Karjulong B) Ketokthek (C) Kaporhethek (D) Kacharlithek
149. Hamphang along chetondunde kolo abanglo ?

(A) Habe B) Lindok (© Dih D) Pator
150. Karbi Alam school along “Compulsory Additional subject” pado nangji pu KAAC pen Komantu aningkansi

cheparailo ?

A 2009 B) 2007 (© 2010 D) 1998
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